MAPS RECODES & SUBSCALE CREATION SYNTAX

ROUTE SECTION SUBSCALE CREATION SYNTAX
************ROUTE:  DESTINATIONS AND LAND USE (DLU) ***********
********POSITIVE DLU SUBSCALES*********

*a. Residential mix subscale

***ResMix =  4 groups:  (1)=Apartments over retail and no other types,  (2) Multi-family, not over retail =  apartments/condos and multi-unit (duplex, 4-plex) and no other types, (3)=

Other or any mix of types = any combination of types or senior center or mobile homes/dorms only, (4)=Single family only = single family and no other types****

IF  (LU3a = 0 & LU3b = 0 & LU3c = 0 & LU3d = 0 & LU3e = 0 & LU3f = 0) ResMix=0.

EXECUTE.

IF  (LU3a = 0 & LU3b = 0 & LU3c = 0 & LU3d = 1 & LU3e = 0 & LU3f = 0) ResMix=1.

EXECUTE.

IF  (LU3a = 0 & (LU3b = 1 or LU3c = 1) & LU3d = 0 & LU3e = 0 & LU3f = 0) ResMix=2.

EXECUTE.

IF  (LU3a = 1 & LU3b = 0 & LU3c = 0 & LU3d = 0 & LU3e = 0 & LU3f = 0) ResMix=4.

EXECUTE.

IF  (MISSING(ResMix)) ResMix=3.

EXECUTE.

*Recoding Res Mix for scoring: 0=commercial; 1=single family; 2=multi-family only and any other mix; 3=apts over retail only 
RECODE ResMix (0=0) (4=1) (2=2) (3=2) (1=3) INTO ResDensityMix_recode.

VARIABLE LABELS  ResMix_recode 'ResMix recoded scores'.

EXECUTE.

*summary subscale score
*b.1. shops subscale: with non-dichotomized response scales

COMPUTE Shops=LU6c + LU6d + LU6f + LU6g + LU6h + LU6i + LU6n +LU7a + LU7b + LU7c .

EXECUTE .

*restaurants/entertainment subscale
COMPUTE Restaur_Ent=LU6a + LU6b + LU6e + LU6l .

EXECUTE .

*institutional/service professional subscale
COMPUTE Institu_Svc=LU6j + LU6k + LU6m.

EXECUTE .

*government services subscale
COMPUTE Govt_Svc=LU6o + LU6p + LU6q+ LU6r.

EXECUTE .

*public rec facility subscale
COMPUTE Public_Rec=LU6y + LU6aa + LU6ac + LU6ad.

EXECUTE .

*private rec facility subscale
COMPUTE Private_Rec=LU6z + LU6ab.

EXECUTE .

*positive influences on PA-parking structures subscale 

*recode 2b (on-street parking: weight higher =2)

RECODE LU2b (0=0) (1=2) INTO LU2b_recode.

VARIABLE LABELS  LU2b_recode 'LU2b recoded'.

EXECUTE.

COMPUTE Pos_Parking=LU2a + LU2b_recode.

EXECUTE .

***Commercial (i.e., most likely pedestrian destinations).  These are not included in the overall scales.

COMPUTE DLU_Comm=Shops+ Restaur_Ent+ Institu_Svc.

EXECUTE.

********NEGATIVE DLU SUBSCALES*********

*negative influences on PA-parking structures subscale  LU2d: medium/large lot to be weighted higher (=2 negative points)

RECODE LU2d (0=0) (1=2) INTO LU2d_recode.

VARIABLE LABELS  LU2d_recode 'LU2d recoded'.

EXECUTE.

******* VALENCE DLU SCORES********

**Overall DLU positive score (all of the above subscales except adverse land uses) :

COMPUTE DLU_pos=ResMix_recode + Shops + Restaur_Ent + Institu_Svc + Govt_Svc + LU6s + LU6t  + Public_Rec + Private_Rec + Pos_Parking.

EXECUTE .

*Overall DLU negative score (adverse land uses subscale industrial + abandoned lot/bldg + surface and med/lg lots).

COMPUTE DLU_neg=LU6u+ LU6x + LU6v + LU6w + LU2c + LU2d_recode.

EXECUTE .

***********OVERALL DLU SCORE*****************

*Overall DLU score: DLU positive-negative scores

COMPUTE DLU_overall=DLU_pos - DLU_neg.

EXECUTE .

*************ROUTE:  STREETSCAPE  ******************

********POSITIVE STREETSCAPE SUBSCALES*********

*transit stop subscale creation: transit tally trichotomies

COMPUTE Transit_tally=SS1a+SS2_1b+SS2_1c+SS2_1d+SS2_2b+ SS2_2c+SS2_2d+SS2_3b+SS2_3c+SS2_3d+SS2_4b+ SS2_4c+SS2_4d.

EXECUTE.

RECODE Transit_tally (0=0) (1=1) (2 thru Highest=2) INTO Transit_tally_trichot.

EXECUTE.

RECODE SS3a (0=Copy) (1 thru Highest=1) INTO SS3a_sign.

VARIABLE LABELS  SS3a_sign 'No sign vs. any'.

EXECUTE.

RECODE SS3a (1 thru 25=1) (26 thru Highest=0) (ELSE=0) INTO SS3a_pos.

VARIABLE LABELS  SS3a_pos 'spd limit 25 or below'.

EXECUTE.

RECODE SS3b (1 thru 25=1) (26 thru Highest=0) (ELSE=SYSMIS) INTO SS3b_pos.

VARIABLE LABELS  SS3b_pos 'spd limit 25 or below'.

EXECUTE.

RECODE SS4a (0=Copy) (1 thru Highest=1) INTO SS4a_dichot.

VARIABLE LABELS  SS4a_dichot '0 vs. any'.

EXECUTE.

RECODE SS4d (0=Copy) (1 thru Highest=1) INTO SS4d_dichot.

VARIABLE LABELS  SS4d_dichot '0 vs. any'.

EXECUTE.

RECODE SS4e (0=Copy) (1 thru Highest=1) INTO SS4e_dichot.

VARIABLE LABELS  SS4e_dichot '0 vs. any'.

EXECUTE.

RECODE SS5 (1=0) (2=1) (3=1) INTO SS5_dichot.

VARIABLE LABELS  SS5_dichot 'SS5 Streetlights dichotomous'.

EXECUTE.

***********NEGATIVE STREETSCAPE SUBSCALES**********

RECODE SS1a (0=1) (ELSE=0) INTO SS1a_dichot.

VARIABLE LABELS  SS1a_dichot 'no transit stops'.

EXECUTE.

RECODE SS3a (Lowest thru 25=0) (26 thru Highest=1) INTO SS3a_dichot.

VARIABLE LABELS  SS3a_dichot 'spd limit over 25'.

EXECUTE.

RECODE SS4b (0=Copy) (1 thru Highest=1) INTO SS4b_dichot.

VARIABLE LABELS  SS4b_dichot ‘none vs. any.

EXECUTE.

RECODE SS5 (1=1) (2=0) (3=0) INTO SS5_dichot_neg.

VARIABLE LABELS  SS5_dichot_neg 'SS5 Streetlights dichotomous neg'.

EXECUTE.

RECODE SS6 (1=0) (2=0) (3=0) (4=1) INTO SS6_dichot.

VARIABLE LABELS  SS6_dichot 'SS6 driveways dichotomous'.

EXECUTE.

******* VALENCE STREETSCAPE SCORES********

COMPUTE Pos_Streetscape= Transit_tally_trichot + SS3a_sign + SS3a_pos + SS4a_dichot + SS4d_dichot + SS4e_dichot + SS5_dichot + SS7a + SS7b + SS7c + SS7d + SS7e + SS7f + SS7g + SS8.

EXECUTE.

COMPUTE Neg_Streetscape=SS1a_dichot + SS3a_dichot+ SS4b_dichot + SS5_dichot_neg + SS6_dichot.

EXECUTE.

********OVERALL STREETSCAPE SCORE*****************

COMPUTE Streetscape_Overall= Pos_Streetscape - Neg_Streetscape.

EXECUTE.

************ROUTE:  AESTHETICS/SOCIAL ****************

********POSITIVE AESTHETICS/SOCIAL SUBSCALES*********

RECODE A5 (1=0) (2=0) (3=0) (4=1) INTO A5_dichot.

VARIABLE LABELS  A5_dichot 'A5 landscape maint dichot'.

EXECUTE.

********NEGATIVE AESTHETICS/SOCIAL SUBSCALES*********

RECODE A4 (1=1) (2=1) (3=1) (4=0) INTO A4_dichot_neg.

VARIABLE LABELS  A4_dichot_neg 'A4 bldg maint dichot neg'.

EXECUTE.

RECODE A7 (1=0) (2=1) (3=1) (4=1) INTO A7_dichot.

VARIABLE LABELS  A7_dichot 'A7 phys disord dichot'.

EXECUTE.

RECODE A8 (1=0) (2=1) (3=1) (4=1) INTO A8_dichot.

VARIABLE LABELS  A8_dichot 'A8 soc disord dichot'.

EXECUTE.

******* VALENCE AESTHETICS/SOCIAL SCORES********

COMPUTE Pos_AesthSoc=A1 + A2 + A5_dichot + A6i + A6j.

EXECUTE.

COMPUTE Neg_AesthSoc=A4_dichot_neg + A6a + A6b + A6c + A6d + A6e + A6g + A7_dichot + A8_dichot + A9a + A9b.

EXECUTE.

********OVERALL AESTHETICS/SOCIAL SCORE*****************

COMPUTE AesthSoc_Overall= Pos_AesthSoc - Neg_AesthSoc.

EXECUTE.

***OVERALL ROUTE SCORE -- DLU + STREETSCAPE + AESTHETICS/SOCIAL ******
**Overall ROUTE Score: Combines the 3 Route section scores: DLU, Streetscape, Aesthetics/social

*Do this calculation after having calculated all of the section scores.

COMPUTE Route_Overall=DLU_Overall + Streetscape_Overall + AesthSoc_Overall.

EXECUTE .

SEGMENTS SECTION SUBSCALE CREATION SYNTAX
*************************SEGMENT 1***********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S1_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S1_26_high.

VARIABLE LABELS  S1_26_high 'S1_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S1_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S1_27_high.

VARIABLE LABELS  S1_27_high 'S1_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S1_26_27_0=S1_26_high AND S1_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S1_26 (1=0) (2=1) (3 thru 6=0) INTO S1_26_2.

VARIABLE LABELS  S1_26_2 'S1_26_<10ft'.

EXECUTE.

RECODE S1_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S1_26_3.

VARIABLE LABELS  S1_26_3 'S1_26_10-20ft'.

EXECUTE.

RECODE S1_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S1_26_4.

VARIABLE LABELS  S1_26_4 'S1_26_21-50ft'.

EXECUTE.

RECODE S1_27 (1=0) (2=1) (3 thru 6=0) INTO S1_27_2.

VARIABLE LABELS  S1_27_2 'S1_27_<10ft'.

EXECUTE.

RECODE S1_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S1_27_3.

VARIABLE LABELS  S1_27_3 'S1_27_10-20ft'.

EXECUTE.

RECODE S1_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S1_27_4.

VARIABLE LABELS  S1_27_4 'S1_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S1_26_27_2=S1_26_3 AND S1_27_3 OR S1_26_2 AND S1_27_3 OR S1_27_2 AND S1_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S1_26_27_3=S1_26_2 AND S1_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S1_26_27_2 = 0 & S1_26_27_3 = 0).

RECODE S1_26_27_0 (0=1) INTO S1_26_27_1.

END IF.

VARIABLE LABELS  S1_26_27_1 'S1_26_27_1'.

EXECUTE.

 RECODE S1_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S1_26_27_0 (0=Copy) (1=0) INTO S1_26_27_0pts.

VARIABLE LABELS  S1_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S1_26_27_1 (0=Copy) (1=1) INTO S1_26_27_1point.

EXECUTE.

RECODE S1_26_27_2 (0=Copy) (1=2) INTO S1_26_27_2points.

EXECUTE.

RECODE S1_26_27_3 (0=Copy) (1=3) INTO S1_26_27_3points.

EXECUTE.

COMPUTE S1_26_27_points=S1_26_27_0pts + S1_26_27_1point + S1_26_27_2points + S1_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S1_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S1_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S1 = S1_26_27_points+ S1_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0. Make sure no sidewalks are coded as -777.

RECODE S1_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S1_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S1_12a (-777=0) (-999=0) (0=0) (1=1) INTO S1_12a_recode.

EXECUTE.

RECODE S1_12b (-777=0) (-999=0) (0=0) (1=1) INTO S1_12b_recode.

EXECUTE.

RECODE S1_12c (-777=0) (-999=0) (0=0) (1=1) INTO S1_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S1_12_sum=S1_12a_recode + S1_12b_recode + S1_12c_recode.

EXECUTE.

RECODE S1_12_sum (2=1) INTO S1_12_sum.

EXECUTE .

*4.  Create compilation score of S1, S2, S12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S1_2_recode = 0 & S1_12_sum=0) Sidewalk_Pos_S1=S1_2_recode+s1_12_sum.

EXECUTE.

IF  (S1_2_recode = 0 & S1_12_sum=1) Sidewalk_Pos_S1=S1_2_recode+s1_12_sum.

EXECUTE.

*5. Create subscale

RECODE S1_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S1.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S1_3a (-777=0) (1=1) (0=0) INTO S1_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S1_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S1_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S1=S1_3a_recode + S1_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S1_14 (1=2) (0=0) INTO S1_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S1=S1_14_recode + S1_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S1_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S1_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S1_19_trichot.

EXECUTE.



*S1_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S1_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S1_20_trichot.

EXECUTE.



*S1_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S1_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S1_21_trichot.

EXECUTE.



*S1_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S1_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S1_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S1=S1_19_trichot + S1_20_trichot + S1_21_trichot + S1_22_dichot.

EXECUTE.

******POSITIVE TREES

*S1_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S1_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S1_23_trichot.

EXECUTE.



*S1_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S1_24 (1=1) (2=0) (-777=0) INTO S1_24_recode.

EXECUTE.



*S1_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S1_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S1_25_trichot.

EXECUTE.



COMPUTE Trees_S1=S1_23_trichot + S1_24_recode + S1_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S1_28, which is in stories).  This will be top of ratio.

RECODE S1_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S1_28_feet.

VARIABLE LABELS  S1_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S1_10. This will be part of bottom of ratio.

RECODE S1_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S1_10_feet.

VARIABLE LABELS  S1_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S1_26 and S1_27 (smallest and largest setbacks)

RECODE S1_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S1_26_feetmid.

VARIABLE LABELS  S1_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S1_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S1_27_feetmid.

VARIABLE LABELS  S1_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S1_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S1_26_27_feetmid_avg=(S1_26_feetmid + S1_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S1=S1_10_feet + S1_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S1=S1_28_feet/RdWdth_plus_Setbk_avg_S1.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S1 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S1.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S1 'Bld Ht Ratio Scores_S1'.

EXECUTE.
**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 1***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S1_4 (1=0) (0=1) INTO S1_4_recode.

EXECUTE.

*S1_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S1_5a (1=0) (2=0) (3=1) (4=1) INTO S1_5a_dichot.

EXECUTE.

*S1_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S1_5b (1=0) (2=1) (3=1) (4=1) INTO S1_5b_dichot.

EXECUTE.

*S1_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S1_8 (1=0) (2=1) (3=1) INTO S1_8_dichot.

EXECUTE.

*S1_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S1_9 (1=0) (2=1) (3=1) INTO S1_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S1=S1_4_recode + S1_5a_dichot + S1_5b_dichot + S1_8_dichot + S1_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S1_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S1_6a_dichot_S.

EXECUTE.

RECODE S1_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S1_6c_recode_S.

EXECUTE.

RECODE S1_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S1_7_recode_S.

EXECUTE.

DO IF  (S1_6b = 2 or S1_6b=3).

RECODE S1_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S1_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S1=S1_6a_dichot_S+S1_6c_recode_S + S1_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S1_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S1_6a_dichot_C.

EXECUTE.

RECODE S1_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S1_6c_recode_C.

EXECUTE.

RECODE S1_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S1_7_recode_C.

EXECUTE.

DO IF  (S1_6b = 2 or S1_6b=3).

RECODE S1_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S1_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S1=S1_6a_dichot_C + S1_6c_recode_C + S1_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S1_10. How many traffic lanes are present? 

RECODE S1_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S1_10_dichot.

EXECUTE.

* Recode S1_11. Is the street predominantly one-way or two-way? 

RECODE S1_11 (1=1) (2=0) INTO S1_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S1=S1_10_dichot + S1_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 1**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S1=PosBldgHtSetbks_S1+Sidewalk_Pos_S1+Buffers_Pos_S1+Bike_Infra_S1+BldgAesthDes_S1+Trees_S1+S1_17+BldgHt_RdWdthSetbk_Ratio_Scores_S1.

EXECUTE.
**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE Segments_Neg_Senior_S1= Sidewalk_Neg_S1+Sidewalk_Neg_Slope_S_S1.

EXECUTE.

COMPUTE Segments_Neg_Child_S1= Sidewalk_Neg_S1+Sidewalk_Neg_Slope_C_S1.

EXECUTE.

***********OVERALL SEGMENT 1 SCORE*********

COMPUTE Overall_Segment_Senior_S1=Segments_Pos_S1-Segments_Neg_Senior_S1.

EXECUTE.

COMPUTE Overall_Segment_Child_S1=Segments_Pos_S1-Segments_Neg_Child_S1.

EXECUTE.

************************SEGMENT 2********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S2_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S2_26_high.

VARIABLE LABELS  S2_26_high 'S2_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S2_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S2_27_high.

VARIABLE LABELS  S2_27_high 'S2_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S2_26_27_0=S2_26_high AND S2_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S2_26 (1=0) (2=1) (3 thru 6=0) INTO S2_26_2.

VARIABLE LABELS  S2_26_2 'S2_26_<10ft'.

EXECUTE.

RECODE S2_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S2_26_3.

VARIABLE LABELS  S2_26_3 'S2_26_10-20ft'.

EXECUTE.

RECODE S2_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S2_26_4.

VARIABLE LABELS  S2_26_4 'S2_26_21-50ft'.

EXECUTE.

RECODE S2_27 (1=0) (2=1) (3 thru 6=0) INTO S2_27_2.

VARIABLE LABELS  S2_27_2 'S2_27_<10ft'.

EXECUTE.

RECODE S2_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S2_27_3.

VARIABLE LABELS  S2_27_3 'S2_27_10-20ft'.

EXECUTE.

RECODE S2_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S2_27_4.

VARIABLE LABELS  S2_27_4 'S2_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S2_26_27_2=S2_26_3 AND S2_27_3 OR S2_26_2 AND S2_27_3 OR S2_27_2 AND S2_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S2_26_27_3=S2_26_2 AND S2_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S2_26_27_2 = 0 & S2_26_27_3 = 0).

RECODE S2_26_27_0 (0=1) INTO S2_26_27_1.

END IF.

VARIABLE LABELS  S2_26_27_1 'S2_26_27_1'.

EXECUTE.

 RECODE S2_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S2_26_27_0 (0=Copy) (1=0) INTO S2_26_27_0pts.

VARIABLE LABELS  S2_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S2_26_27_1 (0=Copy) (1=1) INTO S2_26_27_1point.

EXECUTE.

RECODE S2_26_27_2 (0=Copy) (1=2) INTO S2_26_27_2points.

EXECUTE.

RECODE S2_26_27_3 (0=Copy) (1=3) INTO S2_26_27_3points.

EXECUTE.

COMPUTE S2_26_27_points=S2_26_27_0pts + S2_26_27_1point + S2_26_27_2points + S2_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S2_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S2_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S2 = S2_26_27_points+ S2_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S2_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S2_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S2_12a (-777=0) (-999=0) (0=0) (1=1) INTO S2_12a_recode.

EXECUTE.

RECODE S2_12b (-777=0) (-999=0) (0=0) (1=1) INTO S2_12b_recode.

EXECUTE.

RECODE S2_12c (-777=0) (-999=0) (0=0) (1=1) INTO S2_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S2_12_sum=S2_12a_recode + S2_12b_recode + S2_12c_recode.

EXECUTE.

RECODE S2_12_sum (2=1) INTO S2_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S2_2_recode = 0 & S2_12_sum=0) Sidewalk_Pos_S2=S2_2_recode+S2_12_sum.

EXECUTE.

IF  (S2_2_recode = 0 & S2_12_sum=1) Sidewalk_Pos_S2=S2_2_recode+S2_12_sum.

EXECUTE.

*5. Create subscale

RECODE S2_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S2.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S2_3a (-777=0) (1=1) (0=0) INTO S2_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S2_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S2_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S2=S2_3a_recode + S2_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S2_14 (1=2) (0=0) INTO S2_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S2=S2_14_recode + S2_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S2_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S2_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S2_19_trichot.

EXECUTE.



*S2_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S2_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S2_20_trichot.

EXECUTE.



*S2_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S2_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S2_21_trichot.

EXECUTE.



*S2_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S2_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S2_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S2=S2_19_trichot + S2_20_trichot + S2_21_trichot + S2_22_dichot.

EXECUTE.

******POSITIVE TREES

*S2_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S2_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S2_23_trichot.

EXECUTE.



*S2_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S2_24 (1=1) (2=0) (-777=0) INTO S2_24_recode.

EXECUTE.



*S2_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S2_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S2_25_trichot.

EXECUTE.



COMPUTE Trees_S2=S2_23_trichot + S2_24_recode + S2_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S2_28, which is in stories).  This will be top of ratio.

RECODE S2_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S2_28_feet.

VARIABLE LABELS  S2_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S2_10. This will be part of bottom of ratio.

RECODE S2_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S2_10_feet.

VARIABLE LABELS  S2_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S2_26 and S2_27 (smallest and largest setbacks)

RECODE S2_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S2_26_feetmid.

VARIABLE LABELS  S2_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S2_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S2_27_feetmid.

VARIABLE LABELS  S2_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S2_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S2_26_27_feetmid_avg=(S2_26_feetmid + S2_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S2=S2_10_feet + S2_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S2=S2_28_feet/RdWdth_plus_Setbk_avg_S2.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S2 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S2.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S2 'Bld Ht Ratio Scores_S2'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 2***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S2_4 (1=0) (0=1) INTO S2_4_recode.

EXECUTE.

*S2_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S2_5a (1=0) (2=0) (3=1) (4=1) INTO S2_5a_dichot.

EXECUTE.

*S2_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S2_5b (1=0) (2=1) (3=1) (4=1) INTO S2_5b_dichot.

EXECUTE.

*S2_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S2_8 (1=0) (2=1) (3=1) INTO S2_8_dichot.

EXECUTE.

*S2_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S2_9 (1=0) (2=1) (3=1) INTO S2_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S2=S2_4_recode + S2_5a_dichot + S2_5b_dichot + S2_8_dichot + S2_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S2_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S2_6a_dichot_S.

EXECUTE.

RECODE S2_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S2_6c_recode_S.

EXECUTE.

RECODE S2_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S2_7_recode_S.

EXECUTE.

DO IF  (S2_6b = 2 or S2_6b=3).

RECODE S2_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S2_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S2=S2_6a_dichot_S+S2_6c_recode_S + S2_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S2_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S2_6a_dichot_C.

EXECUTE.

RECODE S2_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S2_6c_recode_C.

EXECUTE.

RECODE S2_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S2_7_recode_C.

EXECUTE.

DO IF  (S2_6b = 2 or S2_6b=3).

RECODE S2_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S2_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S2=S2_6a_dichot_C + S2_6c_recode_C + S2_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S2_10. How many traffic lanes are present? 

RECODE S2_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S2_10_dichot.

EXECUTE.

* Recode S2_11. Is the street predominantly one-way or two-way? 

RECODE S2_11 (1=1) (2=0) INTO S2_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S2=S2_10_dichot + S2_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 2**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S2=PosBldgHtSetbks_S2+Sidewalk_Pos_S2+Buffers_Pos_S2+Bike_Infra_S2+BldgAesthDes_S2+Trees_S2+S2_17+BldgHt_RdWdthSetbk_Ratio_Scores_S2.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE Segments_Neg_Senior_S2= Sidewalk_Neg_S2+Sidewalk_Neg_Slope_S_S2.

EXECUTE.

COMPUTE Segments_Neg_Child_S2= Sidewalk_Neg_S2+Sidewalk_Neg_Slope_C_S2.

EXECUTE.

***********OVERALL SEGMENT 2 SCORE*********

COMPUTE Overall_Segment_Senior_S2=Segments_Pos_S2-Segments_Neg_Senior_S2.

EXECUTE.

COMPUTE Overall_Segment_Child_S2=Segments_Pos_S2-Segments_Neg_Child_S2.

EXECUTE.

*******************************SEGMENT 3**********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S3_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S3_26_high.

VARIABLE LABELS  S3_26_high 'S3_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S3_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S3_27_high.

VARIABLE LABELS  S3_27_high 'S3_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S3_26_27_0=S3_26_high AND S3_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S3_26 (1=0) (2=1) (3 thru 6=0) INTO S3_26_2.

VARIABLE LABELS  S3_26_2 'S3_26_<10ft'.

EXECUTE.

RECODE S3_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S3_26_3.

VARIABLE LABELS  S3_26_3 'S3_26_10-20ft'.

EXECUTE.

RECODE S3_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S3_26_4.

VARIABLE LABELS  S3_26_4 'S3_26_21-50ft'.

EXECUTE.

RECODE S3_27 (1=0) (2=1) (3 thru 6=0) INTO S3_27_2.

VARIABLE LABELS  S3_27_2 'S3_27_<10ft'.

EXECUTE.

RECODE S3_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S3_27_3.

VARIABLE LABELS  S3_27_3 'S3_27_10-20ft'.

EXECUTE.

RECODE S3_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S3_27_4.

VARIABLE LABELS  S3_27_4 'S3_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S3_26_27_2=S3_26_3 AND S3_27_3 OR S3_26_2 AND S3_27_3 OR S3_27_2 AND S3_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S3_26_27_3=S3_26_2 AND S3_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S3_26_27_2 = 0 & S3_26_27_3 = 0).

RECODE S3_26_27_0 (0=1) INTO S3_26_27_1.

END IF.

VARIABLE LABELS  S3_26_27_1 'S3_26_27_1'.

EXECUTE.

 RECODE S3_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S3_26_27_0 (0=Copy) (1=0) INTO S3_26_27_0pts.

VARIABLE LABELS  S3_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S3_26_27_1 (0=Copy) (1=1) INTO S3_26_27_1point.

EXECUTE.

RECODE S3_26_27_2 (0=Copy) (1=2) INTO S3_26_27_2points.

EXECUTE.

RECODE S3_26_27_3 (0=Copy) (1=3) INTO S3_26_27_3points.

EXECUTE.

COMPUTE S3_26_27_points=S3_26_27_0pts + S3_26_27_1point + S3_26_27_2points + S3_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S3_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S3_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S3 = S3_26_27_points+ S3_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S3_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S3_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S3_12a (-777=0) (-999=0) (0=0) (1=1) INTO S3_12a_recode.

EXECUTE.

RECODE S3_12b (-777=0) (-999=0) (0=0) (1=1) INTO S3_12b_recode.

EXECUTE.

RECODE S3_12c (-777=0) (-999=0) (0=0) (1=1) INTO S3_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S3_12_sum=S3_12a_recode + S3_12b_recode + S3_12c_recode.

EXECUTE.

RECODE S3_12_sum (2=1) INTO S3_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S3_2_recode = 0 & S3_12_sum=0) Sidewalk_Pos_S3=S3_2_recode+S3_12_sum.

EXECUTE.

IF  (S3_2_recode = 0 & S3_12_sum=1) Sidewalk_Pos_S3=S3_2_recode+S3_12_sum.

EXECUTE.

*5. Create subscale

RECODE S3_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S3.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S3_3a (-777=0) (1=1) (0=0) INTO S3_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S3_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S3_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S3=S3_3a_recode + S3_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S3_14 (1=2) (0=0) INTO S3_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S3=S3_14_recode + S3_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S3_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S3_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S3_19_trichot.

EXECUTE.



*S3_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S3_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S3_20_trichot.

EXECUTE.



*S3_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S3_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S3_21_trichot.

EXECUTE.



*S3_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S3_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S3_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S3=S3_19_trichot + S3_20_trichot + S3_21_trichot + S3_22_dichot.

EXECUTE.

******POSITIVE TREES

*S3_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S3_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S3_23_trichot.

EXECUTE.



*S3_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S3_24 (1=1) (2=0) (-777=0) INTO S3_24_recode.

EXECUTE.



*S3_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S3_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S3_25_trichot.

EXECUTE.



COMPUTE Trees_S3=S3_23_trichot + S3_24_recode + S3_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S3_28, which is in stories).  This will be top of ratio.

RECODE S3_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S3_28_feet.

VARIABLE LABELS  S3_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S3_10. This will be part of bottom of ratio.

RECODE S3_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S3_10_feet.

VARIABLE LABELS  S3_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S3_26 and S3_27 (smallest and largest setbacks)

RECODE S3_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S3_26_feetmid.

VARIABLE LABELS  S3_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S3_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S3_27_feetmid.

VARIABLE LABELS  S3_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S3_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S3_26_27_feetmid_avg=(S3_26_feetmid + S3_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S3=S3_10_feet + S3_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S3=S3_28_feet/RdWdth_plus_Setbk_avg_S3.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S3 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S3.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S3 'Bld Ht Ratio Scores_S3'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 3***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S3_4 (1=0) (0=1) INTO S3_4_recode.

EXECUTE.

*S3_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S3_5a (1=0) (2=0) (3=1) (4=1) INTO S3_5a_dichot.

EXECUTE.

*S3_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S3_5b (1=0) (2=1) (3=1) (4=1) INTO S3_5b_dichot.

EXECUTE.

*S3_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S3_8 (1=0) (2=1) (3=1) INTO S3_8_dichot.

EXECUTE.

*S3_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S3_9 (1=0) (2=1) (3=1) INTO S3_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S3=S3_4_recode + S3_5a_dichot + S3_5b_dichot + S3_8_dichot + S3_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S3_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S3_6a_dichot_S.

EXECUTE.

RECODE S3_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S3_6c_recode_S.

EXECUTE.

RECODE S3_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S3_7_recode_S.

EXECUTE.

DO IF  (S3_6b = 2 or S3_6b=3).

RECODE S3_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S3_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S3=S3_6a_dichot_S+S3_6c_recode_S + S3_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S3_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S3_6a_dichot_C.

EXECUTE.

RECODE S3_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S3_6c_recode_C.

EXECUTE.

RECODE S3_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S3_7_recode_C.

EXECUTE.

DO IF  (S3_6b = 2 or S3_6b=3).

RECODE S3_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S3_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S3=S3_6a_dichot_C + S3_6c_recode_C + S3_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S3_10. How many traffic lanes are present? 

RECODE S3_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S3_10_dichot.

EXECUTE.

* Recode S3_11. Is the street predominantly one-way or two-way? 

RECODE S3_11 (1=1) (2=0) INTO S3_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S3=S3_10_dichot + S3_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 3**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S3=PosBldgHtSetbks_S3+Sidewalk_Pos_S3+Buffers_Pos_S3+Bike_Infra_S3+BldgAesthDes_S3+Trees_S3+S3_17+BldgHt_RdWdthSetbk_Ratio_Scores_S3.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE Segments_Neg_Senior_S3= Sidewalk_Neg_S3+Sidewalk_Neg_Slope_S_S3.

EXECUTE.

COMPUTE Segments_Neg_Child_S3= Sidewalk_Neg_S3+Sidewalk_Neg_Slope_C_S3.

EXECUTE.

***********OVERALL SEGMENT 3 SCORE*********

COMPUTE Overall_Segment_Senior_S3=Segments_Pos_S3-Segments_Neg_Senior_S3.

EXECUTE.

COMPUTE Overall_Segment_Child_S3=Segments_Pos_S3-Segments_Neg_Child_S3.

EXECUTE.

****************************SEGMENT 4********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S4_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S4_26_high.

VARIABLE LABELS  S4_26_high 'S4_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S4_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S4_27_high.

VARIABLE LABELS  S4_27_high 'S4_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S4_26_27_0=S4_26_high AND S4_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S4_26 (1=0) (2=1) (3 thru 6=0) INTO S4_26_2.

VARIABLE LABELS  S4_26_2 'S4_26_<10ft'.

EXECUTE.

RECODE S4_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S4_26_3.

VARIABLE LABELS  S4_26_3 'S4_26_10-20ft'.

EXECUTE.

RECODE S4_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S4_26_4.

VARIABLE LABELS  S4_26_4 'S4_26_21-50ft'.

EXECUTE.

RECODE S4_27 (1=0) (2=1) (3 thru 6=0) INTO S4_27_2.

VARIABLE LABELS  S4_27_2 'S4_27_<10ft'.

EXECUTE.

RECODE S4_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S4_27_3.

VARIABLE LABELS  S4_27_3 'S4_27_10-20ft'.

EXECUTE.

RECODE S4_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S4_27_4.

VARIABLE LABELS  S4_27_4 'S4_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S4_26_27_2=S4_26_3 AND S4_27_3 OR S4_26_2 AND S4_27_3 OR S4_27_2 AND S4_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S4_26_27_3=S4_26_2 AND S4_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S4_26_27_2 = 0 & S4_26_27_3 = 0).

RECODE S4_26_27_0 (0=1) INTO S4_26_27_1.

END IF.

VARIABLE LABELS  S4_26_27_1 'S4_26_27_1'.

EXECUTE.

 RECODE S4_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S4_26_27_0 (0=Copy) (1=0) INTO S4_26_27_0pts.

VARIABLE LABELS  S4_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S4_26_27_1 (0=Copy) (1=1) INTO S4_26_27_1point.

EXECUTE.

RECODE S4_26_27_2 (0=Copy) (1=2) INTO S4_26_27_2points.

EXECUTE.

RECODE S4_26_27_3 (0=Copy) (1=3) INTO S4_26_27_3points.

EXECUTE.

COMPUTE S4_26_27_points=S4_26_27_0pts + S4_26_27_1point + S4_26_27_2points + S4_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S4_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S4_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S4 = S4_26_27_points+ S4_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S4_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S4_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S4_12a (-777=0) (-999=0) (0=0) (1=1) INTO S4_12a_recode.

EXECUTE.

RECODE S4_12b (-777=0) (-999=0) (0=0) (1=1) INTO S4_12b_recode.

EXECUTE.

RECODE S4_12c (-777=0) (-999=0) (0=0) (1=1) INTO S4_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S4_12_sum=S4_12a_recode + S4_12b_recode + S4_12c_recode.

EXECUTE.

RECODE S4_12_sum (2=1) INTO S4_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S4_2_recode = 0 & S4_12_sum=0) Sidewalk_Pos_S4=S4_2_recode+S4_12_sum.

EXECUTE.

IF  (S4_2_recode = 0 & S4_12_sum=1) Sidewalk_Pos_S4=S4_2_recode+S4_12_sum.

EXECUTE.

*5. Create subscale

RECODE S4_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S4.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S4_3a (-777=0) (1=1) (0=0) INTO S4_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S4_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S4_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S4=S4_3a_recode + S4_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S4_14 (1=2) (0=0) INTO S4_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S4=S4_14_recode + S4_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S4_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S4_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S4_19_trichot.

EXECUTE.



*S4_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S4_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S4_20_trichot.

EXECUTE.



*S4_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S4_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S4_21_trichot.

EXECUTE.



*S4_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S4_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S4_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S4=S4_19_trichot + S4_20_trichot + S4_21_trichot + S4_22_dichot.

EXECUTE.

******POSITIVE TREES

*S4_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S4_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S4_23_trichot.

EXECUTE.



*S4_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S4_24 (1=1) (2=0) (-777=0) INTO S4_24_recode.

EXECUTE.



*S4_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S4_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S4_25_trichot.

EXECUTE.



COMPUTE Trees_S4=S4_23_trichot + S4_24_recode + S4_25_trichot.

EXECUTE.
******NEGATIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S4_28, which is in stories).  This will be top of ratio.

RECODE S4_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S4_28_feet.

VARIABLE LABELS  S4_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S4_10. This will be part of bottom of ratio.

RECODE S4_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S4_10_feet.

VARIABLE LABELS  S4_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S4_26 and S4_27 (smallest and largest setbacks)

RECODE S4_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S4_26_feetmid.

VARIABLE LABELS  S4_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S4_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S4_27_feetmid.

VARIABLE LABELS  S4_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S4_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S4_26_27_feetmid_avg=(S4_26_feetmid + S4_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S4=S4_10_feet + S4_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S4=S4_28_feet/RdWdth_plus_Setbk_avg_S4.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S4 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S4.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S4 'Bld Ht Ratio Scores_S4'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 4***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S4_4 (1=0) (0=1) INTO S4_4_recode.

EXECUTE.

*S4_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S4_5a (1=0) (2=0) (3=1) (4=1) INTO S4_5a_dichot.

EXECUTE.

*S4_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S4_5b (1=0) (2=1) (3=1) (4=1) INTO S4_5b_dichot.

EXECUTE.

*S4_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S4_8 (1=0) (2=1) (3=1) INTO S4_8_dichot.

EXECUTE.

*S4_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S4_9 (1=0) (2=1) (3=1) INTO S4_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S4=S4_4_recode + S4_5a_dichot + S4_5b_dichot + S4_8_dichot + S4_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S4_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S4_6a_dichot_S.

EXECUTE.

RECODE S4_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S4_6c_recode_S.

EXECUTE.

RECODE S4_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S4_7_recode_S.

EXECUTE.

DO IF  (S4_6b = 2 or S4_6b=3).

RECODE S4_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S4_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S4=S4_6a_dichot_S+S4_6c_recode_S + S4_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S4_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S4_6a_dichot_C.

EXECUTE.

RECODE S4_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S4_6c_recode_C.

EXECUTE.

RECODE S4_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S4_7_recode_C.

EXECUTE.

DO IF  (S4_6b = 2 or S4_6b=3).

RECODE S4_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S4_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S4=S4_6a_dichot_C + S4_6c_recode_C + S4_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S4_10. How many traffic lanes are present? 

RECODE S4_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S4_10_dichot.

EXECUTE.

* Recode S4_11. Is the street predominantly one-way or two-way? 

RECODE S4_11 (1=1) (2=0) INTO S4_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S4=S4_10_dichot + S4_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 4**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S4=PosBldgHtSetbks_S4+Sidewalk_Pos_S4+Buffers_Pos_S4+Bike_Infra_S4+BldgAesthDes_S4+Trees_S4+S4_17+BldgHt_RdWdthSetbk_Ratio_Scores_S4.

.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE 
Segments_Neg_Senior_S4= Sidewalk_Neg_S4+Sidewalk_Neg_Slope_S_S4
EXECUTE.

COMPUTE Segments_Neg_Child_S4= Sidewalk_Neg_S4+Sidewalk_Neg_Slope_C_S4.

EXECUTE.

***********OVERALL SEGMENT 4 SCORE*********

COMPUTE Overall_Segment_Senior_S4=Segments_Pos_S4-Segments_Neg_Senior_S4.

EXECUTE.

COMPUTE Overall_Segment_Child_S4=Segments_Pos_S4-Segments_Neg_Child_S4.

EXECUTE.

********************************SEGMENT 5**********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S5_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S5_26_high.

VARIABLE LABELS  S5_26_high 'S5_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S5_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S5_27_high.

VARIABLE LABELS  S5_27_high 'S5_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S5_26_27_0=S5_26_high AND S5_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S5_26 (1=0) (2=1) (3 thru 6=0) INTO S5_26_2.

VARIABLE LABELS  S5_26_2 'S5_26_<10ft'.

EXECUTE.

RECODE S5_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S5_26_3.

VARIABLE LABELS  S5_26_3 'S5_26_10-20ft'.

EXECUTE.

RECODE S5_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S5_26_4.

VARIABLE LABELS  S5_26_4 'S5_26_21-50ft'.

EXECUTE.

RECODE S5_27 (1=0) (2=1) (3 thru 6=0) INTO S5_27_2.

VARIABLE LABELS  S5_27_2 'S5_27_<10ft'.

EXECUTE.

RECODE S5_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S5_27_3.

VARIABLE LABELS  S5_27_3 'S5_27_10-20ft'.

EXECUTE.

RECODE S5_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S5_27_4.

VARIABLE LABELS  S5_27_4 'S5_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S5_26_27_2=S5_26_3 AND S5_27_3 OR S5_26_2 AND S5_27_3 OR S5_27_2 AND S5_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S5_26_27_3=S5_26_2 AND S5_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S5_26_27_2 = 0 & S5_26_27_3 = 0).

RECODE S5_26_27_0 (0=1) INTO S5_26_27_1.

END IF.

VARIABLE LABELS  S5_26_27_1 'S5_26_27_1'.

EXECUTE.

 RECODE S5_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S5_26_27_0 (0=Copy) (1=0) INTO S5_26_27_0pts.

VARIABLE LABELS  S5_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S5_26_27_1 (0=Copy) (1=1) INTO S5_26_27_1point.

EXECUTE.

RECODE S5_26_27_2 (0=Copy) (1=2) INTO S5_26_27_2points.

EXECUTE.

RECODE S5_26_27_3 (0=Copy) (1=3) INTO S5_26_27_3points.

EXECUTE.

COMPUTE S5_26_27_points=S5_26_27_0pts + S5_26_27_1point + S5_26_27_2points + S5_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S5_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S5_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S5 = S5_26_27_points+ S5_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S5_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S5_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S5_12a (-777=0) (-999=0) (0=0) (1=1) INTO S5_12a_recode.

EXECUTE.

RECODE S5_12b (-777=0) (-999=0) (0=0) (1=1) INTO S5_12b_recode.

EXECUTE.

RECODE S5_12c (-777=0) (-999=0) (0=0) (1=1) INTO S5_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S5_12_sum=S5_12a_recode + S5_12b_recode + S5_12c_recode.

EXECUTE.

RECODE S5_12_sum (2=1) INTO S5_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S5_2_recode = 0 & S5_12_sum=0) Sidewalk_Pos_S5=S5_2_recode+S5_12_sum.

EXECUTE.

IF  (S5_2_recode = 0 & S5_12_sum=1) Sidewalk_Pos_S5=S5_2_recode+S5_12_sum.

EXECUTE.

*5. Create subscale

RECODE S5_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S5.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S5_3a (-777=0) (1=1) (0=0) INTO S5_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S5_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S5_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S5=S5_3a_recode + S5_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S5_14 (1=2) (0=0) INTO S5_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S5=S5_14_recode + S5_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S5_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S5_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S5_19_trichot.

EXECUTE.



*S5_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S5_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S5_20_trichot.

EXECUTE.



*S5_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S5_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S5_21_trichot.

EXECUTE.



*S5_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S5_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S5_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S5=S5_19_trichot + S5_20_trichot + S5_21_trichot + S5_22_dichot.

EXECUTE.

******POSITIVE TREES

*S5_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S5_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S5_23_trichot.

EXECUTE.



*S5_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S5_24 (1=1) (2=0) (-777=0) INTO S5_24_recode.

EXECUTE.



*S5_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S5_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S5_25_trichot.

EXECUTE.



COMPUTE Trees_S5=S5_23_trichot + S5_24_recode + S5_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S5_28, which is in stories).  This will be top of ratio.

RECODE S5_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S5_28_feet.

VARIABLE LABELS  S5_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S5_10. This will be part of bottom of ratio.

RECODE S5_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S5_10_feet.

VARIABLE LABELS  S5_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S5_26 and S5_27 (smallest and largest setbacks)

RECODE S5_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S5_26_feetmid.

VARIABLE LABELS  S5_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S5_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S5_27_feetmid.

VARIABLE LABELS  S5_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S5_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S5_26_27_feetmid_avg=(S5_26_feetmid + S5_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S5=S5_10_feet + S5_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S5=S5_28_feet/RdWdth_plus_Setbk_avg_S5.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S5 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S5.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S5 'Bld Ht Ratio Scores_S5'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 5***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S5_4 (1=0) (0=1) INTO S5_4_recode.

EXECUTE.

*S5_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S5_5a (1=0) (2=0) (3=1) (4=1) INTO S5_5a_dichot.

EXECUTE.

*S5_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S5_5b (1=0) (2=1) (3=1) (4=1) INTO S5_5b_dichot.

EXECUTE.

*S5_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S5_8 (1=0) (2=1) (3=1) INTO S5_8_dichot.

EXECUTE.

*S5_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S5_9 (1=0) (2=1) (3=1) INTO S5_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S5=S5_4_recode + S5_5a_dichot + S5_5b_dichot + S5_8_dichot + S5_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S5_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S5_6a_dichot_S.

EXECUTE.

RECODE S5_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S5_6c_recode_S.

EXECUTE.

RECODE S5_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S5_7_recode_S.

EXECUTE.

DO IF  (S5_6b = 2 or S5_6b=3).

RECODE S5_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S5_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S5=S5_6a_dichot_S+S5_6c_recode_S + S5_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S5_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S5_6a_dichot_C.

EXECUTE.

RECODE S5_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S5_6c_recode_C.

EXECUTE.

RECODE S5_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S5_7_recode_C.

EXECUTE.

DO IF  (S5_6b = 2 or S5_6b=3).

RECODE S5_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S5_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S5=S5_6a_dichot_C + S5_6c_recode_C + S5_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S5_10. How many traffic lanes are present? 

RECODE S5_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S5_10_dichot.

EXECUTE.

* Recode S5_11. Is the street predominantly one-way or two-way? 

RECODE S5_11 (1=1) (2=0) INTO S5_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S5=S5_10_dichot + S5_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 5**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S5=PosBldgHtSetbks_S5+Sidewalk_Pos_S5+Buffers_Pos_S5+Bike_Infra_S5+BldgAesthDes_S5+Trees_S5+S5_17+BldgHt_RdWdthSetbk_Ratio_Scores_S5.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE 
Segments_Neg_Senior_S5= Sidewalk_Neg_S5+Sidewalk_Neg_Slope_S_S5.

EXECUTE.

COMPUTE Segments_Neg_Child_S5= Sidewalk_Neg_S5+Sidewalk_Neg_Slope_C_S5.

EXECUTE.

***********OVERALL SEGMENT 5 SCORE*********

COMPUTE Overall_Segment_Senior_S5=Segments_Pos_S5-Segments_Neg_Senior_S5.

EXECUTE.

COMPUTE Overall_Segment_Child_S5=Segments_Pos_S5-Segments_Neg_Child_S5.

EXECUTE.

********************************SEGMENT 6*******************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S6_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S6_26_high.

VARIABLE LABELS  S6_26_high 'S6_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S6_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S6_27_high.

VARIABLE LABELS  S6_27_high 'S6_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S6_26_27_0=S6_26_high AND S6_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S6_26 (1=0) (2=1) (3 thru 6=0) INTO S6_26_2.

VARIABLE LABELS  S6_26_2 'S6_26_<10ft'.

EXECUTE.

RECODE S6_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S6_26_3.

VARIABLE LABELS  S6_26_3 'S6_26_10-20ft'.

EXECUTE.

RECODE S6_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S6_26_4.

VARIABLE LABELS  S6_26_4 'S6_26_21-50ft'.

EXECUTE.

RECODE S6_27 (1=0) (2=1) (3 thru 6=0) INTO S6_27_2.

VARIABLE LABELS  S6_27_2 'S6_27_<10ft'.

EXECUTE.

RECODE S6_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S6_27_3.

VARIABLE LABELS  S6_27_3 'S6_27_10-20ft'.

EXECUTE.

RECODE S6_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S6_27_4.

VARIABLE LABELS  S6_27_4 'S6_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S6_26_27_2=S6_26_3 AND S6_27_3 OR S6_26_2 AND S6_27_3 OR S6_27_2 AND S6_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S6_26_27_3=S6_26_2 AND S6_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S6_26_27_2 = 0 & S6_26_27_3 = 0).

RECODE S6_26_27_0 (0=1) INTO S6_26_27_1.

END IF.

VARIABLE LABELS  S6_26_27_1 'S6_26_27_1'.

EXECUTE.

 RECODE S6_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S6_26_27_0 (0=Copy) (1=0) INTO S6_26_27_0pts.

VARIABLE LABELS  S6_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S6_26_27_1 (0=Copy) (1=1) INTO S6_26_27_1point.

EXECUTE.

RECODE S6_26_27_2 (0=Copy) (1=2) INTO S6_26_27_2points.

EXECUTE.

RECODE S6_26_27_3 (0=Copy) (1=3) INTO S6_26_27_3points.

EXECUTE.

COMPUTE S6_26_27_points=S6_26_27_0pts + S6_26_27_1point + S6_26_27_2points + S6_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S6_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S6_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S6 = S6_26_27_points+ S6_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S6_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S6_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S6_12a (-777=0) (-999=0) (0=0) (1=1) INTO S6_12a_recode.

EXECUTE.

RECODE S6_12b (-777=0) (-999=0) (0=0) (1=1) INTO S6_12b_recode.

EXECUTE.

RECODE S6_12c (-777=0) (-999=0) (0=0) (1=1) INTO S6_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S6_12_sum=S6_12a_recode + S6_12b_recode + S6_12c_recode.

EXECUTE.

RECODE S6_12_sum (2=1) INTO S6_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S6_2_recode = 0 & S6_12_sum=0) Sidewalk_Pos_S6=S6_2_recode+S6_12_sum.

EXECUTE.

IF  (S6_2_recode = 0 & S6_12_sum=1) Sidewalk_Pos_S6=S6_2_recode+S6_12_sum.

EXECUTE.

*5. Create subscale

RECODE S6_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S6.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S6_3a (-777=0) (1=1) (0=0) INTO S6_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S6_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S6_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S6=S6_3a_recode + S6_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S6_14 (1=2) (0=0) INTO S6_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S6=S6_14_recode + S6_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S6_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S6_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S6_19_trichot.

EXECUTE.



*S6_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S6_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S6_20_trichot.

EXECUTE.



*S6_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S6_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S6_21_trichot.

EXECUTE.



*S6_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S6_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S6_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S6=S6_19_trichot + S6_20_trichot + S6_21_trichot + S6_22_dichot.

EXECUTE.

******POSITIVE TREES

*S6_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S6_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S6_23_trichot.

EXECUTE.



*S6_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S6_24 (1=1) (2=0) (-777=0) INTO S6_24_recode.

EXECUTE.



*S6_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S6_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S6_25_trichot.

EXECUTE.



COMPUTE Trees_S6=S6_23_trichot + S6_24_recode + S6_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S6_28, which is in stories).  This will be top of ratio.

RECODE S6_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S6_28_feet.

VARIABLE LABELS  S6_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S6_10. This will be part of bottom of ratio.

RECODE S6_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S6_10_feet.

VARIABLE LABELS  S6_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S6_26 and S6_27 (smallest and largest setbacks)

RECODE S6_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S6_26_feetmid.

VARIABLE LABELS  S6_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S6_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S6_27_feetmid.

VARIABLE LABELS  S6_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S6_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S6_26_27_feetmid_avg=(S6_26_feetmid + S6_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S6=S6_10_feet + S6_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S6=S6_28_feet/RdWdth_plus_Setbk_avg_S6.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S6 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S6.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S6 'Bld Ht Ratio Scores_S6'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 6***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S6_4 (1=0) (0=1) INTO S6_4_recode.

EXECUTE.

*S6_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S6_5a (1=0) (2=0) (3=1) (4=1) INTO S6_5a_dichot.

EXECUTE.

*S6_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S6_5b (1=0) (2=1) (3=1) (4=1) INTO S6_5b_dichot.

EXECUTE.

*S6_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S6_8 (1=0) (2=1) (3=1) INTO S6_8_dichot.

EXECUTE.

*S6_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S6_9 (1=0) (2=1) (3=1) INTO S6_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S6=S6_4_recode + S6_5a_dichot + S6_5b_dichot + S6_8_dichot + S6_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S6_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S6_6a_dichot_S.

EXECUTE.

RECODE S6_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S6_6c_recode_S.

EXECUTE.

RECODE S6_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S6_7_recode_S.

EXECUTE.

DO IF  (S6_6b = 2 or S6_6b=3).

RECODE S6_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S6_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S6=S6_6a_dichot_S+S6_6c_recode_S + S6_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S6_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S6_6a_dichot_C.

EXECUTE.

RECODE S6_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S6_6c_recode_C.

EXECUTE.

RECODE S6_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S6_7_recode_C.

EXECUTE.

DO IF  (S6_6b = 2 or S6_6b=3).

RECODE S6_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S6_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S6=S6_6a_dichot_C + S6_6c_recode_C + S6_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S6_10. How many traffic lanes are present? 

RECODE S6_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S6_10_dichot.

EXECUTE.

* Recode S6_11. Is the street predominantly one-way or two-way? 

RECODE S6_11 (1=1) (2=0) INTO S6_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S6=S6_10_dichot + S6_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 6**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S6=PosBldgHtSetbks_S6+Sidewalk_Pos_S6+Buffers_Pos_S6+Bike_Infra_S6+BldgAesthDes_S6+Trees_S6+S6_17+BldgHt_RdWdthSetbk_Ratio_Scores_S6.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE 
Segments_Neg_Senior_S6= Sidewalk_Neg_S6+Sidewalk_Neg_Slope_S_S6.

EXECUTE.

COMPUTE Segments_Neg_Child_S6= Sidewalk_Neg_S6+Sidewalk_Neg_Slope_C_S6.

EXECUTE.

***********OVERALL SEGMENT 6 SCORE*********

COMPUTE Overall_Segment_Senior_S6=Segments_Pos_S6-Segments_Neg_Senior_S6.

EXECUTE.

COMPUTE Overall_Segment_Child_S6=Segments_Pos_S6-Segments_Neg_Child_S6.

EXECUTE.

********************************SEGMENT 7************************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S7_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S7_26_high.

VARIABLE LABELS  S7_26_high 'S7_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S7_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S7_27_high.

VARIABLE LABELS  S7_27_high 'S7_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S7_26_27_0=S7_26_high AND S7_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S7_26 (1=0) (2=1) (3 thru 6=0) INTO S7_26_2.

VARIABLE LABELS  S7_26_2 'S7_26_<10ft'.

EXECUTE.

RECODE S7_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S7_26_3.

VARIABLE LABELS  S7_26_3 'S7_26_10-20ft'.

EXECUTE.

RECODE S7_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S7_26_4.

VARIABLE LABELS  S7_26_4 'S7_26_21-50ft'.

EXECUTE.

RECODE S7_27 (1=0) (2=1) (3 thru 6=0) INTO S7_27_2.

VARIABLE LABELS  S7_27_2 'S7_27_<10ft'.

EXECUTE.

RECODE S7_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S7_27_3.

VARIABLE LABELS  S7_27_3 'S7_27_10-20ft'.

EXECUTE.

RECODE S7_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S7_27_4.

VARIABLE LABELS  S7_27_4 'S7_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S7_26_27_2=S7_26_3 AND S7_27_3 OR S7_26_2 AND S7_27_3 OR S7_27_2 AND S7_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S7_26_27_3=S7_26_2 AND S7_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S7_26_27_2 = 0 & S7_26_27_3 = 0).

RECODE S7_26_27_0 (0=1) INTO S7_26_27_1.

END IF.

VARIABLE LABELS  S7_26_27_1 'S7_26_27_1'.

EXECUTE.

 RECODE S7_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S7_26_27_0 (0=Copy) (1=0) INTO S7_26_27_0pts.

VARIABLE LABELS  S7_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S7_26_27_1 (0=Copy) (1=1) INTO S7_26_27_1point.

EXECUTE.

RECODE S7_26_27_2 (0=Copy) (1=2) INTO S7_26_27_2points.

EXECUTE.

RECODE S7_26_27_3 (0=Copy) (1=3) INTO S7_26_27_3points.

EXECUTE.

COMPUTE S7_26_27_points=S7_26_27_0pts + S7_26_27_1point + S7_26_27_2points + S7_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S7_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S7_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S7 = S7_26_27_points+ S7_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S7_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S7_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S7_12a (-777=0) (-999=0) (0=0) (1=1) INTO S7_12a_recode.

EXECUTE.

RECODE S7_12b (-777=0) (-999=0) (0=0) (1=1) INTO S7_12b_recode.

EXECUTE.

RECODE S7_12c (-777=0) (-999=0) (0=0) (1=1) INTO S7_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S7_12_sum=S7_12a_recode + S7_12b_recode + S7_12c_recode.

EXECUTE.

RECODE S7_12_sum (2=1) INTO S7_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S7_2_recode = 0 & S7_12_sum=0) Sidewalk_Pos_S7=S7_2_recode+S7_12_sum.

EXECUTE.

IF  (S7_2_recode = 0 & S7_12_sum=1) Sidewalk_Pos_S7=S7_2_recode+S7_12_sum.

EXECUTE.

*5. Create subscale

RECODE S7_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S7.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S7_3a (-777=0) (1=1) (0=0) INTO S7_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S7_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S7_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S7=S7_3a_recode + S7_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S7_14 (1=2) (0=0) INTO S7_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S7=S7_14_recode + S7_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S7_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S7_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S7_19_trichot.

EXECUTE.



*S7_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S7_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S7_20_trichot.

EXECUTE.



*S7_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S7_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S7_21_trichot.

EXECUTE.



*S7_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S7_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S7_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S7=S7_19_trichot + S7_20_trichot + S7_21_trichot + S7_22_dichot.

EXECUTE.

******POSITIVE TREES

*S7_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S7_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S7_23_trichot.

EXECUTE.



*S7_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S7_24 (1=1) (2=0) (-777=0) INTO S7_24_recode.

EXECUTE.



*S7_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S7_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S7_25_trichot.

EXECUTE.



COMPUTE Trees_S7=S7_23_trichot + S7_24_recode + S7_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S7_28, which is in stories).  This will be top of ratio.

RECODE S7_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S7_28_feet.

VARIABLE LABELS  S7_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S7_10. This will be part of bottom of ratio.

RECODE S7_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S7_10_feet.

VARIABLE LABELS  S7_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S7_26 and S7_27 (smallest and largest setbacks)

RECODE S7_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S7_26_feetmid.

VARIABLE LABELS  S7_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S7_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S7_27_feetmid.

VARIABLE LABELS  S7_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S7_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S7_26_27_feetmid_avg=(S7_26_feetmid + S7_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S7=S7_10_feet + S7_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S7=S7_28_feet/RdWdth_plus_Setbk_avg_S7.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S7 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S7.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S7 'Bld Ht Ratio Scores_S7'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 7***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S7_4 (1=0) (0=1) INTO S7_4_recode.

EXECUTE.

*S7_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S7_5a (1=0) (2=0) (3=1) (4=1) INTO S7_5a_dichot.

EXECUTE.

*S7_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S7_5b (1=0) (2=1) (3=1) (4=1) INTO S7_5b_dichot.

EXECUTE.

*S7_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S7_8 (1=0) (2=1) (3=1) INTO S7_8_dichot.

EXECUTE.

*S7_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S7_9 (1=0) (2=1) (3=1) INTO S7_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S7=S7_4_recode + S7_5a_dichot + S7_5b_dichot + S7_8_dichot + S7_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S7_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S7_6a_dichot_S.

EXECUTE.

RECODE S7_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S7_6c_recode_S.

EXECUTE.

RECODE S7_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S7_7_recode_S.

EXECUTE.

DO IF  (S7_6b = 2 or S7_6b=3).

RECODE S7_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S7_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S7=S7_6a_dichot_S+S7_6c_recode_S + S7_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S7_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S7_6a_dichot_C.

EXECUTE.

RECODE S7_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S7_6c_recode_C.

EXECUTE.

RECODE S7_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S7_7_recode_C.

EXECUTE.

DO IF  (S7_6b = 2 or S7_6b=3).

RECODE S7_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S7_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S7=S7_6a_dichot_C + S7_6c_recode_C + S7_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S7_10. How many traffic lanes are present? 

RECODE S7_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S7_10_dichot.

EXECUTE.

* Recode S7_11. Is the street predominantly one-way or two-way? 

RECODE S7_11 (1=1) (2=0) INTO S7_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S7=S7_10_dichot + S7_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 7**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S7=PosBldgHtSetbks_S7+Sidewalk_Pos_S7+Buffers_Pos_S7+Bike_Infra_S7+BldgAesthDes_S7+Trees_S7+S7_17+BldgHt_RdWdthSetbk_Ratio_Scores_S7.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE 
Segments_Neg_Senior_S7= Sidewalk_Neg_S7+Sidewalk_Neg_Slope_S_S7.

EXECUTE.

COMPUTE Segments_Neg_Child_S7= Sidewalk_Neg_S7+Sidewalk_Neg_Slope_C_S7.

EXECUTE.

***********OVERALL SEGMENT 7 SCORE*********

COMPUTE Overall_Segment_Senior_S7=Segments_Pos_S7-Segments_Neg_Senior_S7.

EXECUTE.

COMPUTE Overall_Segment_Child_S7=Segments_Pos_S7-Segments_Neg_Child_S7.

EXECUTE.

********************************SEGMENT 8********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S8_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S8_26_high.

VARIABLE LABELS  S8_26_high 'S8_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S8_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S8_27_high.

VARIABLE LABELS  S8_27_high 'S8_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S8_26_27_0=S8_26_high AND S8_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S8_26 (1=0) (2=1) (3 thru 6=0) INTO S8_26_2.

VARIABLE LABELS  S8_26_2 'S8_26_<10ft'.

EXECUTE.

RECODE S8_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S8_26_3.

VARIABLE LABELS  S8_26_3 'S8_26_10-20ft'.

EXECUTE.

RECODE S8_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S8_26_4.

VARIABLE LABELS  S8_26_4 'S8_26_21-50ft'.

EXECUTE.

RECODE S8_27 (1=0) (2=1) (3 thru 6=0) INTO S8_27_2.

VARIABLE LABELS  S8_27_2 'S8_27_<10ft'.

EXECUTE.

RECODE S8_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S8_27_3.

VARIABLE LABELS  S8_27_3 'S8_27_10-20ft'.

EXECUTE.

RECODE S8_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S8_27_4.

VARIABLE LABELS  S8_27_4 'S8_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S8_26_27_2=S8_26_3 AND S8_27_3 OR S8_26_2 AND S8_27_3 OR S8_27_2 AND S8_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S8_26_27_3=S8_26_2 AND S8_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S8_26_27_2 = 0 & S8_26_27_3 = 0).

RECODE S8_26_27_0 (0=1) INTO S8_26_27_1.

END IF.

VARIABLE LABELS  S8_26_27_1 'S8_26_27_1'.

EXECUTE.

 RECODE S8_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S8_26_27_0 (0=Copy) (1=0) INTO S8_26_27_0pts.

VARIABLE LABELS  S8_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S8_26_27_1 (0=Copy) (1=1) INTO S8_26_27_1point.

EXECUTE.

RECODE S8_26_27_2 (0=Copy) (1=2) INTO S8_26_27_2points.

EXECUTE.

RECODE S8_26_27_3 (0=Copy) (1=3) INTO S8_26_27_3points.

EXECUTE.

COMPUTE S8_26_27_points=S8_26_27_0pts + S8_26_27_1point + S8_26_27_2points + S8_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S8_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S8_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S8 = S8_26_27_points+ S8_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S8_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S8_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S8_12a (-777=0) (-999=0) (0=0) (1=1) INTO S8_12a_recode.

EXECUTE.

RECODE S8_12b (-777=0) (-999=0) (0=0) (1=1) INTO S8_12b_recode.

EXECUTE.

RECODE S8_12c (-777=0) (-999=0) (0=0) (1=1) INTO S8_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S8_12_sum=S8_12a_recode + S8_12b_recode + S8_12c_recode.

EXECUTE.

RECODE S8_12_sum (2=1) INTO S8_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S8_2_recode = 0 & S8_12_sum=0) Sidewalk_Pos_S8=S8_2_recode+S8_12_sum.

EXECUTE.

IF  (S8_2_recode = 0 & S8_12_sum=1) Sidewalk_Pos_S8=S8_2_recode+S8_12_sum.

EXECUTE.

*5. Create subscale

RECODE S8_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S8.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S8_3a (-777=0) (1=1) (0=0) INTO S8_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S8_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S8_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S8=S8_3a_recode + S8_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S8_14 (1=2) (0=0) INTO S8_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S8=S8_14_recode + S8_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S8_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S8_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S8_19_trichot.

EXECUTE.



*S8_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S8_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S8_20_trichot.

EXECUTE.



*S8_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S8_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S8_21_trichot.

EXECUTE.



*S8_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S8_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S8_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S8=S8_19_trichot + S8_20_trichot + S8_21_trichot + S8_22_dichot.

EXECUTE.

******POSITIVE TREES

*S8_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S8_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S8_23_trichot.

EXECUTE.



*S8_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S8_24 (1=1) (2=0) (-777=0) INTO S8_24_recode.

EXECUTE.



*S8_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S8_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S8_25_trichot.

EXECUTE.



COMPUTE Trees_S8=S8_23_trichot + S8_24_recode + S8_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S8_28, which is in stories).  This will be top of ratio.

RECODE S8_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S8_28_feet.

VARIABLE LABELS  S8_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S8_10. This will be part of bottom of ratio.

RECODE S8_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S8_10_feet.

VARIABLE LABELS  S8_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S8_26 and S8_27 (smallest and largest setbacks)

RECODE S8_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S8_26_feetmid.

VARIABLE LABELS  S8_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S8_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S8_27_feetmid.

VARIABLE LABELS  S8_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S8_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S8_26_27_feetmid_avg=(S8_26_feetmid + S8_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S8=S8_10_feet + S8_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S8=S8_28_feet/RdWdth_plus_Setbk_avg_S8.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S8 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S8.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S8 'Bld Ht Ratio Scores_S8'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 8***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S8_4 (1=0) (0=1) INTO S8_4_recode.

EXECUTE.

*S8_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S8_5a (1=0) (2=0) (3=1) (4=1) INTO S8_5a_dichot.

EXECUTE.

*S8_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S8_5b (1=0) (2=1) (3=1) (4=1) INTO S8_5b_dichot.

EXECUTE.

*S8_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S8_8 (1=0) (2=1) (3=1) INTO S8_8_dichot.

EXECUTE.

*S8_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S8_9 (1=0) (2=1) (3=1) INTO S8_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S8=S8_4_recode + S8_5a_dichot + S8_5b_dichot + S8_8_dichot + S8_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S8_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S8_6a_dichot_S.

EXECUTE.

RECODE S8_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S8_6c_recode_S.

EXECUTE.

RECODE S8_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S8_7_recode_S.

EXECUTE.

DO IF  (S8_6b = 2 or S8_6b=3).

RECODE S8_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S8_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S8=S8_6a_dichot_S+S8_6c_recode_S + S8_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S8_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S8_6a_dichot_C.

EXECUTE.

RECODE S8_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S8_6c_recode_C.

EXECUTE.

RECODE S8_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S8_7_recode_C.

EXECUTE.

DO IF  (S8_6b = 2 or S8_6b=3).

RECODE S8_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S8_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S8=S8_6a_dichot_C + S8_6c_recode_C + S8_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S8_10. How many traffic lanes are present? 

RECODE S8_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S8_10_dichot.

EXECUTE.

* Recode S8_11. Is the street predominantly one-way or two-way? 

RECODE S8_11 (1=1) (2=0) INTO S8_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S8=S8_10_dichot + S8_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 8**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S8=PosBldgHtSetbks_S8+Sidewalk_Pos_S8+Buffers_Pos_S8+Bike_Infra_S8+BldgAesthDes_S8+Trees_S8+S8_17 +BldgHt_RdWdthSetbk_Ratio_Scores_S8.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE 
Segments_Neg_Senior_S8= Sidewalk_Neg_S8+Sidewalk_Neg_Slope_S_S8.

EXECUTE.

COMPUTE Segments_Neg_Child_S8= Sidewalk_Neg_S8+Sidewalk_Neg_Slope_C_S8.

EXECUTE.

***********OVERALL SEGMENT 8 SCORE*********

COMPUTE Overall_Segment_Senior_S8=Segments_Pos_S8-Segments_Neg_Senior_S8.

EXECUTE.

COMPUTE Overall_Segment_Child_S8=Segments_Pos_S8-Segments_Neg_Child_S8.

EXECUTE.

********************************SEGMENT 9***********************************

**********POSITIVE SUBSCALES  (Setbacks/Road width/Building Height, Sidewalks, Buffers, Bike Infrastructure, Building Aesthetics & Design and Trees)

*** POSITIVE SETBACKS/ROAD WIDTH/BUILDING HEIGHT -- first, need to recode variables to compose the scales. There are a total of 8 steps.  

*1. Recode for combining the setback items (26 and 27) to create the option: any setback >50 ft.and no bldg. (0 pts.)

RECODE S9_26 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S9_26_high.

VARIABLE LABELS  S9_26_high 'S9_26-setback grthan 50 ft and no bldg'.

EXECUTE.

RECODE S9_27 (1=1) (5=1) (6=1) (2 thru 4=0) INTO S9_27_high.

VARIABLE LABELS  S9_27_high 'S9_27-setback grthan 50 ft and no bldg'.

EXECUTE.

COMPUTE S9_26_27_0=S9_26_high AND S9_27_high.

EXECUTE.

*2. Recode to create "all other combinations" setback option (1 pt.)

RECODE S9_26 (1=0) (2=1) (3 thru 6=0) INTO S9_26_2.

VARIABLE LABELS  S9_26_2 'S9_26_<10ft'.

EXECUTE.

RECODE S9_26 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S9_26_3.

VARIABLE LABELS  S9_26_3 'S9_26_10-20ft'.

EXECUTE.

RECODE S9_26 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S9_26_4.

VARIABLE LABELS  S9_26_4 'S9_26_21-50ft'.

EXECUTE.

RECODE S9_27 (1=0) (2=1) (3 thru 6=0) INTO S9_27_2.

VARIABLE LABELS  S9_27_2 'S9_27_<10ft'.

EXECUTE.

RECODE S9_27 (1=0) (2=0) (3=1) (4 thru 6=0) INTO S9_27_3.

VARIABLE LABELS  S9_27_3 'S9_27_10-20ft'.

EXECUTE.

RECODE S9_27 (1 thru 3=0) (4=1) (5 thru 6=0) INTO S9_27_4.

VARIABLE LABELS  S9_27_4 'S9_27_21-50ft'.

EXECUTE.

*3. Recode to create the "both setbacks 10-20 ft. or one setback <10 ft./one setback 10-20 ft." option (2 pts.)

COMPUTE S9_26_27_2=S9_26_3 AND S9_27_3 OR S9_26_2 AND S9_27_3 OR S9_27_2 AND S9_26_3.

EXECUTE.

*4. Recode to create the "both setbacks <10 ft." option (3 pts.)

COMPUTE S9_26_27_3=S9_26_2 AND S9_27_2.

EXECUTE.

*5. Subtract/logic out others to get "all other combos": 1 pt. 

DO IF  (S9_26_27_2 = 0 & S9_26_27_3 = 0).

RECODE S9_26_27_0 (0=1) INTO S9_26_27_1.

END IF.

VARIABLE LABELS  S9_26_27_1 'S9_26_27_1'.

EXECUTE.

 RECODE S9_26_27_1 (SYSMIS=0).

EXECUTE.

*6. Recode the setback items to scores

RECODE S9_26_27_0 (0=Copy) (1=0) INTO S9_26_27_0pts.

VARIABLE LABELS  S9_26_27_0pts '26_27_0 points'.

EXECUTE.

RECODE S9_26_27_1 (0=Copy) (1=1) INTO S9_26_27_1point.

EXECUTE.

RECODE S9_26_27_2 (0=Copy) (1=2) INTO S9_26_27_2points.

EXECUTE.

RECODE S9_26_27_3 (0=Copy) (1=3) INTO S9_26_27_3points.

EXECUTE.

COMPUTE S9_26_27_points=S9_26_27_0pts + S9_26_27_1point + S9_26_27_2points + S9_26_27_3points.

EXECUTE.

*7. Recode building height

RECODE S9_28 (1 thru 2=0) (3=1) (4=2) (5=3) INTO S9_28_trichot.

EXECUTE.

*8. Compute subscale 

COMPUTE PosBldgHtSetbks_S9 = S9_26_27_points+ S9_28_trichot. 

EXECUTE .

***POSITIVE SIDEWALK QUALITIES ---  total of 5 steps.

*1. Recode sidewalk width and "no sidewalk" into 0

RECODE S9_2 (-777=0) (-999=0) (1=2) (2=2) (3=3) INTO S9_2_recode.

EXECUTE.

*2. Recode no sidewalk alternatives (-777 and missing (-999)) into 0's

RECODE S9_12a (-777=0) (-999=0) (0=0) (1=1) INTO S9_12a_recode.

EXECUTE.

RECODE S9_12b (-777=0) (-999=0) (0=0) (1=1) INTO S9_12b_recode.

EXECUTE.

RECODE S9_12c (-777=0) (-999=0) (0=0) (1=1) INTO S9_12c_recode.

EXECUTE .

*3. Sum #12's to get one score: 1=yes, alternative walking path; 0=none

COMPUTE S9_12_sum=S9_12a_recode + S9_12b_recode + S9_12c_recode.

EXECUTE.

RECODE S9_12_sum (2=1) INTO S9_12_sum.

EXECUTE .

*4.  Create compilation score of 1, 2, 12.  0= no sidewalk or path; 1= no sidewalk, but walking path of any type; 2=sidewalk < 5 ft; 3=sidewalk > 5ft.

IF  (S9_2_recode = 0 & S9_12_sum=0) Sidewalk_Pos_S9=S9_2_recode+S9_12_sum.

EXECUTE.

IF  (S9_2_recode = 0 & S9_12_sum=1) Sidewalk_Pos_S9=S9_2_recode+S9_12_sum.

EXECUTE.

*5. Create subscale

RECODE S9_2_recode (2=2) (3=3) INTO Sidewalk_Pos_S9.

EXECUTE.

**** POSITIVE BUFFERS 

*Recode buffer presence so no sidewalk(-777)=0

RECODE S9_3a (-777=0) (1=1) (0=0) INTO S9_3a_recode.

EXECUTE.

*Recode buffer width buffer?  Recode: 3 -5 ft or >5 ft = 1; else= 0

RECODE S9_3b (0=0) (1=0) (2=1) (3=1) (-777=0) INTO S9_3b_dichot.

EXECUTE.

*Buffer subscale creation 

COMPUTE Buffers_Pos_S9=S9_3a_recode + S9_3b_dichot.

EXECUTE.

**** POSITIVE BICYCLE INFRASTRUCTURE

RECODE S9_14 (1=2) (0=0) INTO S9_14_recode.

EXECUTE.



COMPUTE Bike_Infra_S9=S9_14_recode + S9_15.

EXECUTE.

******POSITIVE BUILDING ASTHETICS AND DESIGN 

*S9_19. Estimate the proportion of street segment that has ground floor or street-level windows within 40 feet of sidewalk/walkway (or street): *no windows – 25% = 0; 26%-75% = 1; >76% = 2

RECODE S9_19 (0=0) (1=0) (-777=0) (2=1) (3=1) (4=2) INTO S9_19_trichot.

EXECUTE.



*S9_20. How many different predominant building façade colors exist on the street segment? *recode:
1 color = 0; 2-3 colors = 1; >4 colors = 2

RECODE S9_20 (0=0) (1=0) (-777=0) (2=1) (3=2) (4=2) INTO S9_20_trichot.

EXECUTE.



*S9_21. How many different building accent colors exist on the street segment? *recode 1 color = 0; 2-3 colors = 1; >4colors = 2 

RECODE S9_21 (0=0) (1=0) (-777=0)  (2=1) (3=2) (4=2) INTO S9_21_trichot.

EXECUTE.



*S9_22. How many different predominant building materials exist along the street segment? *recode 1 material = 0; >1 = 1

RECODE S9_22 (0=0)(1=0) (-777=0)(2=1) (3=1) (4=1) INTO S9_22_dichot.

EXECUTE.



COMPUTE BldgAesthDes_S9=S9_19_trichot + S9_20_trichot + S9_21_trichot + S9_22_dichot.

EXECUTE.

******POSITIVE TREES

*S9_23. How many trees exist within 5 feet of either side of the sidewalk/pathway? *recode: 0-1 trees = 0; 2-10 trees = 1; >11 trees = 2

RECODE S9_23 (1=0) (2=1) (3=1) (4=2) (5=2) (-777=0) INTO S9_23_trichot.

EXECUTE.



*S9_24. How are the trees generally spaced?  Evenly = 1, other=0

RECODE S9_24 (1=1) (2=0) (-777=0) INTO S9_24_recode.

EXECUTE.



*S9_25. What %age of the length of the sidewalk/walkway is covered by trees, awnings, or other overhead coverage? -777 and no coverage–25% = 0; 26%-75% = 1; >75% = 2

RECODE S9_25 (1=0) (2=1) (3=1) (4=2) (5=0) (-777=0) INTO S9_25_trichot.

EXECUTE.



COMPUTE Trees_S9=S9_23_trichot + S9_24_recode + S9_25_trichot.

EXECUTE.
******POSITIVE BUILDING HEIGHT/SETBACKS (Ratio of height to lane width + setbacks). There will be a total of 7 steps.

*1.Create height in feet (from S9_28, which is in stories).  This will be top of ratio.

RECODE S9_28 (1=0) (2=18) (3=48) (4=96) (5=144) INTO S9_28_feet.

VARIABLE LABELS  S9_28_feet 'bldg ht in feet'.

EXECUTE.

*2. Convert road width to feet: S9_10. This will be part of bottom of ratio.

RECODE S9_10 (1=12) (2=24) (3=36) (4=48) (5=60) (6=72) (7=84) INTO S9_10_feet.

VARIABLE LABELS  S9_10_feet 'traffic lanes in feet'.

EXECUTE.

*3. Recode setback foot ranges to the midpoints and average the midpoints for S9_26 and S9_27 (smallest and largest setbacks)

RECODE S9_26 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S9_26_feetmid.

VARIABLE LABELS  S9_26_feetmid 'sm setback feet midpoint'.

EXECUTE.

RECODE S9_27 (1=0) (2=5) (3=15) (4=35) (5=75) (6=100) INTO S9_27_feetmid.

VARIABLE LABELS  S9_27_feetmid 'sm setback feet midpoint'.

EXECUTE.

*4. Average smallest and largest setback midpoints (S9_26 and 27).  This will be the other part of the bottom of the ratio.

COMPUTE S9_26_27_feetmid_avg=(S9_26_feetmid + S9_27_feetmid) / 2.

EXECUTE.

*5. Add road width (in feet) to setback averages

COMPUTE RdWdth_plus_Setbk_avg_S9=S9_10_feet + S9_26_27_feetmid_avg.

EXECUTE.

*6. Create the Building Height:Road Width + Setbacks Ratio

COMPUTE BldgHt_RdWdthSetbk_Ratio_S9=S9_28_feet/RdWdth_plus_Setbk_avg_S9.

EXECUTE.

*7. Recode ratio into scores

RECODE BldgHt_RdWdthSetbk_Ratio_S9 (Lowest thru .499=0) (.50 thru .999=1) (1.0 thru 1.999=3) (2.0 thru 

    2.999=2) (3.0 thru Highest=1) INTO BldgHt_RdWdthSetbk_Ratio_Scores_S9.

VARIABLE LABELS  BldgHt_RdWdthSetbk_Ratio_Scores_S9 'Bld Ht Ratio Scores_S9'.

EXECUTE.

**********NEGATIVE SEGMENTS SUBSCALES SEGMENT 9***********

***SIDEWALK NEGATIVE CHARACTERISTICS

RECODE S9_4 (1=0) (0=1) INTO S9_4_recode.

EXECUTE.

*S9_5a. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Minor: a few or more = 1; all else= 0

RECODE S9_5a (1=0) (2=0) (3=1) (4=1) INTO S9_5a_dichot.

EXECUTE.

*S9_5b. Are there poorly maintained sections of the sidewalk that constitute trip hazards? Recode: Major: a few or more = 1; all else= 0

RECODE S9_5b (1=0) (2=1) (3=1) (4=1) INTO S9_5b_dichot.

EXECUTE.

*S9_8. Are there permanent obstructions in the sidewalk?some or many = 1; all else:= 0 Recode: 1=0, 2=1, 3=1

RECODE S9_8 (1=0) (2=1) (3=1) INTO S9_8_dichot.

EXECUTE.

*S9_9. Are there temporary obstructions in the sidewalk? : some or many = 1; all else= 0. Recode: 1=0, 2=1, 3=1

RECODE S9_9 (1=0) (2=1) (3=1) INTO S9_9_dichot.

EXECUTE.

COMPUTE Sidewalk_Neg_S9=S9_4_recode + S9_5a_dichot + S9_5b_dichot + S9_8_dichot + S9_9_dichot.

EXECUTE.

***SIDEWALK NEGATIVE SLOPE******** 

*****SENIOR CODING *****

RECODE S9_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S9_6a_dichot_S.

EXECUTE.

RECODE S9_6c (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S9_6c_recode_S.

EXECUTE.

RECODE S9_7 (0 thru 1.14=0) (1.15 thru 2.28=1) (2.29 thru 3.43=2) (3.44 thru Highest=3) INTO S9_7_recode_S.

EXECUTE.

DO IF  (S9_6b = 2 or S9_6b=3).

RECODE S9_6a (0 thru 3.43=0) (3.44 thru 6.88=1) (6.89 thru 8.99=2) (8.99 thru Highest=3) INTO S9_6c_recode_S.

END IF.

COMPUTE Sidewalk_Neg_Slope_S_S9=S9_6a_dichot_S+S9_6c_recode_S + S9_7_recode_S.

EXECUTE .

******SIDEWALK NEGATIVE SLOPE******** 

*****CHILD/ADULT CODING *****

RECODE S9_6a (6.89 thru Highest=1) (0 thru 6.88=0) INTO S9_6a_dichot_C.

EXECUTE.

RECODE S9_6c (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S9_6c_recode_C.

EXECUTE.

RECODE S9_7 (0 thru 2.28=0) (2.29 thru 3.43=1) (3.44 thru Highest=2) INTO S9_7_recode_C.

EXECUTE.

DO IF  (S9_6b = 2 or S9_6b=3).

RECODE S9_6a  (0 thru 6.88=0) (6.89 thru 8.99=1) (8.99 thru Highest=2) INTO S9_6c_recode_C.

END IF.

COMPUTE Sidewalk_Neg_Slope_C_S9=S9_6a_dichot_C + S9_6c_recode_C + S9_7_recode_C.

EXECUTE.

********NEGATIVE STREET DESIGN (note: not included in subscales)********

*Recode S9_10. How many traffic lanes are present? 

RECODE S9_10 (1=1) (2=1) (3=1) (4=1) (5=2) (6=2) (7=2) INTO S9_10_dichot.

EXECUTE.

* Recode S9_11. Is the street predominantly one-way or two-way? 

RECODE S9_11 (1=1) (2=0) INTO S9_11_recode.

EXECUTE.



*then, scale creation: Neg Street Design

COMPUTE Neg_Street_Des_S9=S9_10_dichot + S9_11_recode.

EXECUTE.

**********VALENCE SCORES SEGMENT 9**************

**Positive Subscale scores (1 point added for #17=yes)

COMPUTE Segments_Pos_S9=PosBldgHtSetbks_S9+Sidewalk_Pos_S9+Buffers_Pos_S9+Bike_Infra_S9+BldgAesthDes_S9+Trees_S9+S9_17 +BldgHt_RdWdthSetbk_Ratio_Scores_S9.

EXECUTE.

**Negative Subscale Scores. Separate for seniors and children/adults.

COMPUTE 
Segments_Neg_Senior_S9= Sidewalk_Neg_S9+Sidewalk_Neg_Slope_S_S9.

EXECUTE.

COMPUTE Segments_Neg_Child_S9= Sidewalk_Neg_S9+Sidewalk_Neg_Slope_C_S9.

EXECUTE.

***********OVERALL SEGMENT 9 SCORE*********

COMPUTE Overall_Segment_Senior_S9=Segments_Pos_S9-Segments_Neg_Senior_S9.

EXECUTE.

COMPUTE Overall_Segment_Child_S9=Segments_Pos_S9-Segments_Neg_Child_S9.

EXECUTE.

********THIS IS AN OPTION FOR DEALING WITH SEGMENTS WITHOUT A SIDEWALK THAT WOULD OTHERWISE BE MISSING SEVERAL REALTED SUBSCAEL SCORES***
****RECODE negative subscales when no sidewalk or path by giving subscaels the worst possible score. This assures that every participant will have negative sidewalk, overall negative and overall segment scores*******

DO IF (S1_1=1 or S1_1=0).

RECODE Sidewalk_Neg_S1 (MISSING=5).

END IF.

EXECUTE.

DO IF (S2_1=1 or S2_1=0).

RECODE Sidewalk_Neg_S2 (MISSING=5).

END IF.

EXECUTE.

DO IF (S3_1=1 or S3_1=0).

RECODE Sidewalk_Neg_S3 (MISSING=5).

END IF.

EXECUTE.

DO IF (S4_1=1 or S4_1=0).

RECODE Sidewalk_Neg_S4 (MISSING=5).

END IF.

EXECUTE.

DO IF (S5_1=1 or S5_1=0).

RECODE Sidewalk_Neg_S5 (MISSING=5).

END IF.

EXECUTE.

DO IF (S6_1=1 or S6_1=0).

RECODE Sidewalk_Neg_S6 (MISSING=5).

END IF.

EXECUTE.

DO IF (S7_1=1 or S7_1=0).

RECODE Sidewalk_Neg_S7 (MISSING=5).

END IF.

EXECUTE.

DO IF (S8_1=1 or S8_1=0).

RECODE Sidewalk_Neg_S8 (MISSING=5).

END IF.

EXECUTE.

DO IF (S9_1=1 or S9_1=0).

RECODE Sidewalk_Neg_S9 (MISSING=5).

END IF.

EXECUTE.

**seniors**

DO IF (S1_1=1 or S1_1=0).

RECODE Sidewalk_Neg_Slope_S_S1 (MISSING=7).

END IF.

EXECUTE.

DO IF (S2_1=1 or S2_1=0).

RECODE Sidewalk_Neg_Slope_S_S2 (MISSING=7).

END IF.

EXECUTE.

DO IF (S3_1=1 or S3_1=0).

RECODE Sidewalk_Neg_Slope_S_S3 (MISSING=7).

END IF.

EXECUTE.

DO IF (S4_1=1 or S4_1=0).

RECODE Sidewalk_Neg_Slope_S_S4 (MISSING=7).

END IF.

EXECUTE.

DO IF (S5_1=1 or S5_1=0).

RECODE Sidewalk_Neg_Slope_S_S5 (MISSING=7).

END IF.

EXECUTE.

DO IF (S6_1=1 or S6_1=0).

RECODE Sidewalk_Neg_Slope_S_S6 (MISSING=7).

END IF.

EXECUTE.

DO IF (S7_1=1 or S7_1=0).

RECODE Sidewalk_Neg_Slope_S_S7 (MISSING=7).

END IF.

EXECUTE.

DO IF (S8_1=1 or S8_1=0).

RECODE Sidewalk_Neg_Slope_S_S8 (MISSING=7).

END IF.

EXECUTE.

DO IF (S9_1=1 or S9_1=0).

RECODE Sidewalk_Neg_Slope_S_S9 (MISSING=7).

END IF.

EXECUTE.

***kids/adults***

DO IF (S1_1  = 1 or S1_1=0).

RECODE Sidewalk_Neg_Slope_C_S1 (MISSING=5).

END IF.

EXECUTE.

DO IF (S1_1  = 1 or S1_1=0).

RECODE Sidewalk_Neg_Slope_C_S1 (MISSING=5).

END IF.

EXECUTE.

DO IF (S2_1  = 1 or S2_1=0).

RECODE Sidewalk_Neg_Slope_C_S2 (MISSING=5).

END IF.

EXECUTE.

DO IF (S3_1  = 1 or S3_1=0).

RECODE Sidewalk_Neg_Slope_C_S3 (MISSING=5).

END IF.

EXECUTE.

DO IF (S4_1  = 1 or S4_1=0).

RECODE Sidewalk_Neg_Slope_C_S4 (MISSING=5).

END IF.

EXECUTE.

DO IF (S5_1  = 1 or S5_1=0).

RECODE Sidewalk_Neg_Slope_C_S5 (MISSING=5).

END IF.

EXECUTE.

DO IF (S6_1  = 1 or S6_1=0).

RECODE Sidewalk_Neg_Slope_C_S6 (MISSING=5).

END IF.

EXECUTE.

DO IF (S7_1  = 1 or S7_1=0).

RECODE Sidewalk_Neg_Slope_C_S7 (MISSING=5).

END IF.

EXECUTE.

DO IF (S8_1  = 1 or S8_1=0).

RECODE Sidewalk_Neg_Slope_C_S8 (MISSING=5).

END IF.

EXECUTE.

DO IF (S9_1  = 1 or S9_1=0).

RECODE Sidewalk_Neg_Slope_C_S9 (MISSING=5).

END IF.

EXECUTE.

*****RECALCULATE OVERALL NEGATIVES AND OVERALLS SO ALL PARTICPANTS HAVEA  SCORE*****
COMPUTE Segments_Neg_Senior_S1= Sidewalk_Neg_S1+Sidewalk_Neg_Slope_S_S1.

EXECUTE.

COMPUTE Segments_Neg_Child_S1= Sidewalk_Neg_S1+Sidewalk_Neg_Slope_C_S1.

EXECUTE.

COMPUTE Overall_Segment_Senior_S1=Segments_Pos_S1-Segments_Neg_Senior_S1.

EXECUTE.

COMPUTE Overall_Segment_Child_S1=Segments_Pos_S1-Segments_Neg_Child_S1.

EXECUTE.

COMPUTE Segments_Neg_Senior_S2= Sidewalk_Neg_S2+Sidewalk_Neg_Slope_S_S2.

EXECUTE.

COMPUTE Segments_Neg_Child_S2= Sidewalk_Neg_S2+Sidewalk_Neg_Slope_C_S2.

EXECUTE.

COMPUTE Overall_Segment_Senior_S2=Segments_Pos_S2-Segments_Neg_Senior_S2.

EXECUTE.

COMPUTE Overall_Segment_Child_S2=Segments_Pos_S2-Segments_Neg_Child_S2.

EXECUTE.

COMPUTE Segments_Neg_Senior_S3= Sidewalk_Neg_S3+Sidewalk_Neg_Slope_S_S3.

EXECUTE.

COMPUTE Segments_Neg_Child_S3= Sidewalk_Neg_S3+Sidewalk_Neg_Slope_C_S3.

EXECUTE.

COMPUTE Overall_Segment_Senior_S3=Segments_Pos_S3-Segments_Neg_Senior_S3.

EXECUTE.

COMPUTE Overall_Segment_Child_S3=Segments_Pos_S3-Segments_Neg_Child_S3.

EXECUTE.

COMPUTE Segments_Neg_Senior_S4= Sidewalk_Neg_S4+Sidewalk_Neg_Slope_S_S4.

EXECUTE.

COMPUTE Segments_Neg_Child_S4= Sidewalk_Neg_S4+Sidewalk_Neg_Slope_C_S4.

EXECUTE.

COMPUTE Overall_Segment_Senior_S4=Segments_Pos_S4-Segments_Neg_Senior_S4.

EXECUTE.

COMPUTE Overall_Segment_Child_S4=Segments_Pos_S4-Segments_Neg_Child_S4.

EXECUTE.

COMPUTE Segments_Neg_Senior_S5= Sidewalk_Neg_S5+Sidewalk_Neg_Slope_S_S5.

EXECUTE.

COMPUTE Segments_Neg_Child_S5= Sidewalk_Neg_S5+Sidewalk_Neg_Slope_C_S5.

EXECUTE.

COMPUTE Overall_Segment_Senior_S5=Segments_Pos_S5-Segments_Neg_Senior_S5.

EXECUTE.

COMPUTE Overall_Segment_Child_S5=Segments_Pos_S5-Segments_Neg_Child_S5.

EXECUTE.

COMPUTE Segments_Neg_Senior_S6= Sidewalk_Neg_S6+Sidewalk_Neg_Slope_S_S6.

EXECUTE.

COMPUTE Segments_Neg_Child_S6= Sidewalk_Neg_S6+Sidewalk_Neg_Slope_C_S6.

EXECUTE.

COMPUTE Overall_Segment_Senior_S6=Segments_Pos_S6-Segments_Neg_Senior_S6.

EXECUTE.

COMPUTE Overall_Segment_Child_S6=Segments_Pos_S6-Segments_Neg_Child_S6.

EXECUTE.

COMPUTE Segments_Neg_Senior_S7= Sidewalk_Neg_S7+Sidewalk_Neg_Slope_S_S7.

EXECUTE.

COMPUTE Segments_Neg_Child_S7= Sidewalk_Neg_S7+Sidewalk_Neg_Slope_C_S7.

EXECUTE.

COMPUTE Overall_Segment_Senior_S7=Segments_Pos_S7-Segments_Neg_Senior_S7.

EXECUTE.

COMPUTE Overall_Segment_Child_S7=Segments_Pos_S7-Segments_Neg_Child_S7.

EXECUTE.

COMPUTE Segments_Neg_Senior_S8= Sidewalk_Neg_S8+Sidewalk_Neg_Slope_S_S8.

EXECUTE.

COMPUTE Segments_Neg_Child_S8= Sidewalk_Neg_S8+Sidewalk_Neg_Slope_C_S8.

EXECUTE.

COMPUTE Overall_Segment_Senior_S8=Segments_Pos_S8-Segments_Neg_Senior_S8.

EXECUTE.

COMPUTE Overall_Segment_Child_S8=Segments_Pos_S8-Segments_Neg_Child_S8.

EXECUTE.

COMPUTE Segments_Neg_Senior_S9= Sidewalk_Neg_S9+Sidewalk_Neg_Slope_S_S9.

EXECUTE.

COMPUTE Segments_Neg_Child_S9= Sidewalk_Neg_S9+Sidewalk_Neg_Slope_C_S9.

EXECUTE.

COMPUTE Overall_Segment_Senior_S9=Segments_Pos_S9-Segments_Neg_Senior_S9.

EXECUTE.

COMPUTE Overall_Segment_Child_S9=Segments_Pos_S9-Segments_Neg_Child_S9.

EXECUTE.

CROSSINGS SECTION SUBSCALE CREATION SYNTAX
*************************CROSSING 1******************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence and Intersection Control/Signage/Features) 

*Crosswalk Amenities Scale creation for Crossing 1

COMPUTE CrosswalkAmenities_C1=C1_7c + C1_8a + C1_8b + C1_8c + C1_8d + C1_8e + C1_11c + C1_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C1_5a (1=Copy) (2=0) (3=0) INTO C1_5a_positive.

EXECUTE.

RECODE C1_5b (1=Copy) (2=0) (3=0) INTO C1_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 1

COMPUTE CurbQual_C1=C1_5a_positive + C1_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 1

COMPUTE IntsectCtrlSign_C1=C1_1a + C1_1b + C1_1c + C1_1d + C1_3a + C1_3b + C1_3c + C1_3d + C1_3e + C1_11a + C1_11b + C1_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing and Crossing Impediments) Higher scores=worse.  

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C1_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C1_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 1

COMPUTE Road_Width_C1=C1_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C1_5a (1=0) (2=0) (3=1) INTO C1_5a_negative.

EXECUTE .

RECODE C1_5b (1=0) (2=0) (3=1) INTO C1_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C1= C1_5a_negative + C1_5b_negative + C1_6 + C1_7a + C1_7b + C1_12c + C1_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 1

COMPUTE PosCrossChars_C1=CrosswalkAmenities_C1 + CurbQual_C1 +  IntsectCtrlSign_C1.

EXECUTE.

*Negative Crossing Characteristics-Crossing 1

COMPUTE NegCrossChars_C1=Road_Width_C1 + Cross_Imped_C1.

EXECUTE.

*Overall Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C1=PosCrossChars_C1 - NegCrossChars_C1.

EXECUTE.

***************************CROSSING 2**************************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence, Intersection Control/Signage/Features 

*Crosswalk Amenities Scale creation for Crossing 2

COMPUTE CrosswalkAmenities_C2=C2_7c + C2_8a + C2_8b + C2_8c + C2_8d + C2_8e + C2_11c + C2_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C2_5a (1=Copy) (2=0) (3=0) INTO C2_5a_positive.

EXECUTE.

RECODE C2_5b (1=Copy) (2=0) (3=0) INTO C2_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 2

COMPUTE CurbQual_C2=C2_5a_positive + C2_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 2

COMPUTE IntsectCtrlSign_C2=C2_1a + C2_1b + C2_1c + C2_1d + C2_3a + C2_3b + C2_3c + C2_3d + C2_3e + C2_11a + C2_11b + C2_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing, Crossing Impediments.  Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C2_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C2_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 2

COMPUTE Road_Width_C2=C2_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C2_5a (1=0) (2=0) (3=1) INTO C2_5a_negative.

EXECUTE .

RECODE C2_5b (1=0) (2=0) (3=1) INTO C2_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C2= C2_5a_negative + C2_5b_negative + C2_6 + C2_7a + C2_7b + C2_12c + C2_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 2

COMPUTE PosCrossChars_C2=CrosswalkAmenities_C2 + CurbQual_C2 +  IntsectCtrlSign_C2.

EXECUTE.

*Negative Crossing Characteristics-Crossing 2

COMPUTE NegCrossChars_C2=Road_Width_C2 + Cross_Imped_C2.

EXECUTE.

*all Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C2=PosCrossChars_C2 - NegCrossChars_C2.

EXECUTE.

*******************************CROSSING 3****************************************

**POSITIVE SUBSCALES (Crosswalk amenities/quality, Curb quality/presence, Intersection control/signage/features 

*Crosswalk Amenities scale creation for Crossing 3

COMPUTE CrosswalkAmenities_C3=C3_7c + C3_8a + C3_8b + C3_8c + C3_8d + C3_8e + C3_11c + C3_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C3_5a (1=Copy) (2=0) (3=0) INTO C3_5a_positive.

EXECUTE.

RECODE C3_5b (1=Copy) (2=0) (3=0) INTO C3_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 3

COMPUTE CurbQual_C3=C3_5a_positive + C3_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 3

COMPUTE IntsectCtrlSign_C3=C3_1a + C3_1b + C3_1c + C3_1d + C3_3a + C3_3b + C3_3c + C3_3d + C3_3e + C3_11a + C3_11b + C3_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing, Crossing Impediments.  Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C3_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C3_10_trichot.

EXECUTE.

**Road Width Scale creation for Crossing 3

COMPUTE Road_Width_C3=C3_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C3_5a (1=0) (2=0) (3=1) INTO C3_5a_negative.

EXECUTE .

RECODE C3_5b (1=0) (2=0) (3=1) INTO C3_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C3= C3_5a_negative + C3_5b_negative + C3_6 + C3_7a + C3_7b + C3_12c + C3_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 3

COMPUTE PosCrossChars_C3=CrosswalkAmenities_C3 + CurbQual_C3 +  IntsectCtrlSign_C3.

EXECUTE.

*Negative Crossing Characteristics-Crossing 3

COMPUTE NegCrossChars_C3=Road_Width_C3 + Cross_Imped_C3.

EXECUTE.

*all Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C3=PosCrossChars_C3 - NegCrossChars_C3.

EXECUTE.

****************************CROSSING 4*********************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence, Intersection Control/Signage/Features 

*Crosswalk Amenities scale creation for Crossing 4

COMPUTE CrosswalkAmenities_C4=C4_7c + C4_8a + C4_8b + C4_8c + C4_8d + C4_8e + C4_11c + C4_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C4_5a (1=Copy) (2=0) (3=0) INTO C4_5a_positive.

EXECUTE.

RECODE C4_5b (1=Copy) (2=0) (3=0) INTO C4_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 4

COMPUTE CurbQual_C4=C4_5a_positive + C4_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 4

COMPUTE IntsectCtrlSign_C4=C4_1a + C4_1b + C4_1c + C4_1d + C4_3a + C4_3b + C4_3c + C4_3d + C4_3e + C4_11a + C4_11b + C4_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing, Crossing Impediments.  Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C4_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C4_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 4

COMPUTE Road_Width_C4=C4_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C4_5a (1=0) (2=0) (3=1) INTO C4_5a_negative.

EXECUTE .

RECODE C4_5b (1=0) (2=0) (3=1) INTO C4_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C4= C4_5a_negative + C4_5b_negative + C4_6 + C4_7a + C4_7b + C4_12c + C4_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 4

COMPUTE PosCrossChars_C4=CrosswalkAmenities_C4 + CurbQual_C4 +  IntsectCtrlSign_C4.

EXECUTE.

*Negative Crossing Characteristics-Crossing 4

COMPUTE NegCrossChars_C4=Road_Width_C4 + Cross_Imped_C4.

EXECUTE.

*Overall Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C4=PosCrossChars_C4 - NegCrossChars_C4.

EXECUTE.

***************************CROSSING 5**********************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence, Intersection Control/Signage/Features 

*Crosswalk Amenities scale creation for Crossing 5

COMPUTE CrosswalkAmenities_C5=C5_7c + C5_8a + C5_8b + C5_8c + C5_8d + C5_8e + C5_11c + C5_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C5_5a (1=Copy) (2=0) (3=0) INTO C5_5a_positive.

EXECUTE.

RECODE C5_5b (1=Copy) (2=0) (3=0) INTO C5_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 5

COMPUTE CurbQual_C5=C5_5a_positive + C5_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 5

COMPUTE IntsectCtrlSign_C5=C5_1a + C5_1b + C5_1c + C5_1d + C5_3a + C5_3b + C5_3c + C5_3d + C5_3e + C5_11a + C5_11b + C5_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing, Crossing Impediments.  Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C5_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C5_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 5

COMPUTE Road_Width_C5=C5_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C5_5a (1=0) (2=0) (3=1) INTO C5_5a_negative.

EXECUTE .

RECODE C5_5b (1=0) (2=0) (3=1) INTO C5_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C5= C5_5a_negative + C5_5b_negative + C5_6 + C5_7a + C5_7b + C5_12c + C5_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 5

COMPUTE PosCrossChars_C5=CrosswalkAmenities_C5 + CurbQual_C5 +  IntsectCtrlSign_C5.

EXECUTE.

*Negative Crossing Characteristics-Crossing 5

COMPUTE NegCrossChars_C5=Road_Width_C5 + Cross_Imped_C5.

EXECUTE.

*Overall Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C5=PosCrossChars_C5 - NegCrossChars_C5.

EXECUTE.

**********************************CROSSING 6**************************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence, Intersection Control/Signage/Features 

*Crosswalk Amenities scale creation for Crossing 6

COMPUTE CrosswalkAmenities_C6=C6_7c + C6_8a + C6_8b + C6_8c + C6_8d + C6_8e + C6_11c + C6_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C6_5a (1=Copy) (2=0) (3=0) INTO C6_5a_positive.

EXECUTE.

RECODE C6_5b (1=Copy) (2=0) (3=0) INTO C6_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 6

COMPUTE CurbQual_C6=C6_5a_positive + C6_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 6

COMPUTE IntsectCtrlSign_C6=C6_1a + C6_1b + C6_1c + C6_1d + C6_3a + C6_3b + C6_3c + C6_3d + C6_3e + C6_11a + C6_11b + C6_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing, Crossing Impediments.  Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C6_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C6_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 6

COMPUTE Road_Width_C6=C6_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C6_5a (1=0) (2=0) (3=1) INTO C6_5a_negative.

EXECUTE .

RECODE C6_5b (1=0) (2=0) (3=1) INTO C6_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C6= C6_5a_negative + C6_5b_negative + C6_6 + C6_7a + C6_7b + C6_12c + C6_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 6

COMPUTE PosCrossChars_C6=CrosswalkAmenities_C6 + CurbQual_C6 +  IntsectCtrlSign_C6.

EXECUTE.

*Negative Crossing Characteristics-Crossing 6

COMPUTE NegCrossChars_C6=Road_Width_C6 + Cross_Imped_C6.

EXECUTE.

*Overall Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C6=PosCrossChars_C6 - NegCrossChars_C6.

EXECUTE.

********************************CROSSING 7***********************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence, Intersection Control/Signage/Features 

*Crosswalk Amenities scale creation for Crossing 7

COMPUTE CrosswalkAmenities_C7=C7_7c + C7_8a + C7_8b + C7_8c + C7_8d + C7_8e + C7_11c + C7_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C7_5a (1=Copy) (2=0) (3=0) INTO C7_5a_positive.

EXECUTE.

RECODE C7_5b (1=Copy) (2=0) (3=0) INTO C7_5b_positive.

EXECUTE.

*Curb Quality/PresenceScale creation for Crossing 7

COMPUTE CurbQual_C7=C7_5a_positive + C7_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 7

COMPUTE IntsectCtrlSign_C7=C7_1a + C7_1b + C7_1c + C7_1d + C7_3a + C7_3b + C7_3c + C7_3d + C7_3e + C7_11a + C7_11b + C7_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road Width of crossing, Crossing Impediments.  Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C7_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C7_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 7

COMPUTE Road_Width_C7=C7_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C7_5a (1=0) (2=0) (3=1) INTO C7_5a_negative.

EXECUTE .

RECODE C7_5b (1=0) (2=0) (3=1) INTO C7_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C7= C7_5a_negative + C7_5b_negative + C7_6 + C7_7a + C7_7b + C7_12c + C7_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 7

COMPUTE PosCrossChars_C7=CrosswalkAmenities_C7 + CurbQual_C7 +  IntsectCtrlSign_C7.

EXECUTE.

*Negative Crossing Characteristics-Crossing 7

COMPUTE NegCrossChars_C7=Road_Width_C7 + Cross_Imped_C7.

EXECUTE.

*Overall Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C7=PosCrossChars_C7 - NegCrossChars_C7.

EXECUTE.

******************************CROSSING 8***********************************

**POSITIVE SUBSCALES (Crosswalk Amenities/Quality, Curb Quality/Presence, Intersection Control/Signage/Features 

*Crosswalk Amenities scale creation for Crossing 8

COMPUTE CrosswalkAmenities_C8=C8_7c + C8_8a + C8_8b + C8_8c + C8_8d + C8_8e + C8_11c + C8_11e.

EXECUTE.

*Curb Quality/Presence no reverse scoring, but only using responses with "ramp lines up with curb" (option 1). This is recode to create new variables for positive option 1 only

RECODE C8_5a (1=Copy) (2=0) (3=0) INTO C8_5a_positive.

EXECUTE.

RECODE C8_5b (1=Copy) (2=0) (3=0) INTO C8_5b_positive.

EXECUTE.

*Curb Quality/Presence Scale creation for Crossing 8

COMPUTE CurbQual_C8=C8_5a_positive + C8_5b_positive.

EXECUTE.

*Intersection Control/Signage scale creation for Crossing 8

COMPUTE IntsectCtrlSign_C8=C8_1a + C8_1b + C8_1c + C8_1d + C8_3a + C8_3b + C8_3c + C8_3d + C8_3e + C8_11a + C8_11b + C8_11d.

EXECUTE.

**NEGATIVE SUBSCALES (Road width of crossing, Crossing Impediments. Unanticipated mid-seg crossings will be kept as its own item, not included in subscales)

**Road Width (of crossing) --crossing lane width is recoded (trichotomized): (1-2=0), (3-4=1), (5+=2)

RECODE C8_10 (1 thru 2=0) (3 thru 4=1) (5 thru Highest=2) INTO C8_10_trichot.

EXECUTE.

*Road Width Scale creation for Crossing 8

COMPUTE Road_Width_C8=C8_10_trichot.

EXECUTE.

*Create the negative options scores for items 5 a and b

RECODE C8_5a (1=0) (2=0) (3=1) INTO C8_5a_negative.

EXECUTE .

RECODE C8_5b (1=0) (2=0) (3=1) INTO C8_5b_negative.

EXECUTE .

*Crossing Impediments Scale creation

COMPUTE Cross_Imped_C8= C8_5a_negative + C8_5b_negative + C8_6 + C8_7a + C8_7b + C8_12c + C8_12d.

EXECUTE. 

***************VALENCE SCORES*********************

*Positive Crossing Characteristics-Crossing 8

COMPUTE PosCrossChars_C8=CrosswalkAmenities_C8 + CurbQual_C8 +  IntsectCtrlSign_C8.

EXECUTE.

*Negative Crossing Characteristics-Crossing 8

COMPUTE NegCrossChars_C8=Road_Width_C8 + Cross_Imped_C8.

EXECUTE.

*Overall Crossing Characteristics computed by combining the positive and negative scores computed above 

COMPUTE OverallCrossScore_C8=PosCrossChars_C8 - NegCrossChars_C8.

EXECUTE.
CUL-DE-SAC SECTION SUBSCALE CREATION SYNTAX
**1.
How close is cul-de-sac or dead-end to participant’s home. Recode to 'On cul-de-sac' and 'adjacent' = 1, other = 0

RECODE D1_1 (1=Copy) (2=1) (3=0) (4=0) INTO D1_1_dichot.

EXECUTE.

**2.
How big is cul-de-sac at its largest diameter. Recode to <50 ft = 0, all others (>=51) =1

RECODE D1_2 (1=0) (2=1) (3=1) (4=1) INTO D1_2_dichot.

EXECUTE.

**3a.
Incline/grade of cul-de-sac at steepest point. Recode to 0-6.88 degrees = 1 and >6.88  degrees  = 0

RECODE D1_3a (0 thru 6.88 = 1) (6.89 thru 30 = 0) INTO D1_3a_dichot.

EXECUTE.

**3b.
Incline/grade of cul-de-sac at entrance. Recode to 0-6.88 degrees = 1 and >6.88  degrees  = 0

RECODE D1_3b (0 thru 6.88 = 1) (6.89 thru Highest = 0) INTO D1_3b_dichot.

EXECUTE.

**5.
For paved part, how smooth is pavement. Recode to Very smooth = 1, other = 0

RECODE D1_5 (1=0) (2=0) (3=0) (4=1) INTO D1_5_dichot.

EXECUTE.

**6
What amenities exist at the opening to or along cul-de-sac? Make a composite index: total number of amenities available (sum all items)

0 = 0; 1 = 1; 2= 2 or more

COMPUTE D1_6_sum =D1_6a + D1_6b + D1_6c + D1_6d.

EXECUTE.

RECODE D1_6_sum (0=Copy) (1=Copy) (2 thru Highest = 2) INTO D1_6_sum_trichot.

EXECUTE.

**11.
Is parking allowed in the area? Recode to Yes = 0, no = 1 

RECODE D1_11 (1=0) (0=1) INTO D1_11_recode.

EXECUTE.

**CulDeSac 1 Scale score creation: sum of all items except 4, 9, 10 and 12

COMPUTE OverallCdScore_D1=D1_1_dichot + D1_2_dichot + D1_3a_dichot + D1_3b_dichot + D1_5_dichot + D1_6_sum_trichot + D1_7 + D1_8 + D1_11_recode.

EXECUTE.

******************SECOND CUL-DE-SAC***************

**1.
How close is cul-de-sac or dead-end to participant’s home. Recode to 'On cul-de-sac' and 'adjacent' = 1, other = 0

RECODE D2_1 (1=Copy) (2=1) (3=0) (4=0) INTO D2_1_dichot.

EXECUTE.

**2.
How big is cul-de-sac at its largest diameter. Recode to <50 ft = 0, all others (>=51) =1

RECODE D2_2 (1=0) (2=1) (3=1) (4=1) INTO D2_2_dichot.

EXECUTE.

**3a.
Incline/grade of cul-de-sac at steepest point. Recode to 0-6.88 degrees = 1 and >6.88  degrees  = 0

RECODE D2_3a (0 thru 6.88 = 1) (6.89 thru 30 = 0) INTO D2_3a_dichot.

EXECUTE.

**3b.
Incline/grade of cul-de-sac at entrance. Recode to 0-6.88 degrees = 1 and >6.88  degrees  = 0

RECODE D2_3b (0 thru 6.88 = 1) (6.89 thru Highest = 0) INTO D2_3b_dichot.

EXECUTE.

**5.
For paved part, how smooth is pavement. Recode to Very smooth = 1, other = 0

RECODE D2_5 (1=0) (2=0) (3=0) (4=1) INTO D2_5_dichot.

EXECUTE.

**6
What amenities exist at the opening to or along cul-de-sac? Make a composite index: total number of amenities available (sum all items)

0 = 0; 1 = 1; 2= 2 or more

COMPUTE D2_6_sum =D2_6a + D2_6b + D2_6c + D2_6d.

EXECUTE.

RECODE D2_6_sum (0=Copy) (1=Copy) (2 thru Highest = 2) INTO D2_6_sum_trichot.

EXECUTE.

**11.
Is parking allowed in the area? Recode to Yes = 0, no = 1 

RECODE D2_11 (1=0) (0=1) INTO D2_11_recode.

EXECUTE.

**CulDeSac 2 Scale score creation: sum of all items except 4, 9, 10 and 12

COMPUTE OverallCdScore_D2=D2_1_dichot + D2_2_dichot + D2_3a_dichot + D2_3b_dichot + D2_5_dichot + D2_6_sum_trichot + D2_7 + D2_8 + D2_11_recode.

EXECUTE.

